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Question Id : 536228463 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No
Question Numbers : (1 to 5)
Question Label : Comprehension
Consider the following table that shows the percentage (%) distribution of runs scored by an

Indian batsman against different countries in one-day internationals (ODI) and T 20 world
cup matches. Total runs scored by the Indian batsman in ODI and T20 are 2800 and 2000

respectively. Based on the data in the table, answer the questions 1- 5:

Sub questions

Question Number : 1 Question Id : 536228464 Question Type : MCQ Option Shuffling : No Is

Countrywise Distribution of Runs :

Country Percent (%) of Runs Scored
0DI T20
Pakistan 10.50% 09.50%
England 11.00% 09.00%
Australia 17.50% 11.50%
South Africa 12.50% 16.50%
Sr1 Lanka 09.00% 12.50%
New Zealand 12.00% 10.00%
West Indies 14.00% 18.00%
Others 13.50% 13.00%

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



If the batsman played 14 mnnings against Sr1 Lanka in ODI and remained not out In
5 innings, then the average runs scored by the batsman against Sr1 Lanka are :

() 28 (2 24
(3 26 (4) 22
Options :

5362281801. 1
5362281802. 2
5362281803. 3

5362281804. 4

Question Number : 2 Question Id : 536228465 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Total runs scored by the batsman against New Zealand in T20 matches are approximately

what percent (%) of the total runs scored agamnst Pakistan in ODI matches?

(1) 64% (2) 66%
(3 62% 4) 68%
Options :

5362281805. 1
5362281806. 2
5362281807. 3

5362281808. 4

Question Number : 3 Question Id : 536228466 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In the case of which of the following countries, the difference between the runs scored by the

batsman in ODI and T20 is the second lowest?
(1)  SrLanka (2) Pakistan

(3)  South Africa (4) West Indies

Options :



53622818009. 1
5362281810. 2
5362281811. 3

5362281812. 4

Question Number : 4 Question Id : 536228467 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The runs scored by the batsman against West Indies in T20 are approximately what percent

(%) of the runs scored against Austraha in ODI?

1 71% (2 T5%
@ T3% 4) 69%
Options :

5362281813. 1
5362281814. 2
5362281815. 3

5362281816. 4

Question Number : 5 Question Id : 536228468 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

If the batsman had scored 280 runs against Pakistan in T20 matches, then what would have
been the percentage of runs scored by the batsman in the T20 matches against all other

countries (Assuming that the total runs scored by the batsman in T20 remains the same
(that 13 2000))?

(1) 88% 2) 84%
(3 86% 4) 90%
Options :

5362281817. 1
5362281818. 2
5362281819. 3

5362281820. 4



Question Id : 536228463 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (1 to 5)

Question Label : Comprehension

i & 8 e W W, S T G Secse 30 O fGae A (A S e sk d 20
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ATETE 7120
TN 10.50% | 09.50%
TeTE 11.00% | 09.00%

Ao 17.50% | 11.50%
2o arfi | 12.50% 16.50%

et 09.00% | 12.50%
EEIRLE 12.00% | 10.00%
TR 14.00% | 18.00%
A 13.50% | 13.00%

Sub questions

Question Number : 1 Question Id : 536228464 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

s ST A AL § A % g 14 N Gell A 5 el § TE-AE @, @ aeerd g
ofiT1 T ST 0 T A

(1) 28 @ 24
(3) 26 (4) 22

Options:

5362281801. 1
5362281802. 2
5362281803. 3
5362281804. 4



Question Number : 2 Question Id : 536228465 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
FeeAaTs g 2 20 4§ SIS (G S0 W Fe W SIS F § OEE F ers s

T T F AN R T (%) 7

(1) 64% (2) 66%
(3 62% (4) 68%
Options :

5362281805. 1
5362281806. 2
5362281807. 3

5362281808. 4

Question Number : 3 Question Id : 536228466 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fiefefa @ @ 79 30 % A A Ao g AT AR 2 20 § S T B AR TE a6

AR
() A (2) T
(3) e arf 4) =
Options :

53622818009. 1
5362281810. 2
5362281811. 3

5362281812. 4

Question Number : 4 Question Id : 536228467 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0
oA g 21 20 9§ T F G T W S 9 6 e F faes o

1 T T wfe (%) 77

I 7% 2) T5%
3 1% 4) 69%
Options :

5362281813. 1
5362281814. 2
5362281815. 3

5362281816. 4

Question Number : 5 Question Id : 536228468 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

e e 4 21 20 51 § TEE F fger 280 T A 9, 91 39 g 5= 94 2 % figens 2120
=t | S 0 W F A R 2 (78 o 5u T 4 20 B ° seeiEns R I T e W e
(#7919 2000) T 7) 7

(1) 88% (2) 84%
(3) 86% (4) 90%
Options:

5362281817. 1
5362281818. 2
5362281819. 3
5362281820. 4

Sub-Section Number : 2
Sub-Section Id : 53622820
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 536228469 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

For optimising learning outcomes which of the following factors have been 1dentified as most
effective 1n terms of research evidences in the global context?

(1) Home related factors

(2)  School related factors

(3

(

4)  Supplementary technological devices related factors

Teacher related factors

e

Options :

5362281821. 1
5362281822. 2
5362281823. 3
5362281824. 4

Question Number : 6 Question Id : 536228469 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ST T i P S % T Fefiad § 6 HA 8w s 5ol § a e g g
TATEE T A R Y

(1) T 59l 0

Q) o Datd FE

(8) T TaiG FF
Options :
5362281821. 1
5362281822. 2
5362281823. 3
5362281824. 4

Question Number : 7 Question Id : 536228470 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



What 1s the hallmark of reflective teaching?

(1) Clear, organized and well structured content
(2) Personalized. interactive and high level of cognitive interchange
(3) Systematic, planned and quick question-answer session
(4) Logical. coherent and example based presentations
Options :

5362281825. 1
5362281826. 2
5362281827. 3

5362281828. 4

Question Number : 7 Question Id : 536228470 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
Tt foveror =i fafore Te=m == 27

(2) TafFa®, 9. fFaaE 37 399 T TEETEE AREAE-TEH

(3)  =HafEdm, giEifad o1 59 Te-3et '

(4) T, TEFA AR ISR AT T A
Options:
5362281825. 1
5362281826. 2
5362281827. 3

5362281828. 4

Question Number : 8 Question Id : 536228471 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of cognitive behaviours in the taxonomy of educational

objectives :

(A)  Knowledge

(B)  Application

(C)  Understanding
(D)  Analysis

(E)  Synthesis

Choose the correct answer from the options given below :

(1) (A).(B).(C). D) and (E) 2 (D). (E). (A). (B) and (C)
3) (A (C). (B), (D) and (E) 4) (D). (E). A).(C) and (B)
Options :

5362281829. 1
5362281830. 2
5362281831. 3
5362281832. 4

Question Number : 8 Question Id : 536228471 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

SH{eh 35271 = ATUHA | BHEICAT HGRN F Hel FH H TEEE W o

A IH

(B) M
(C) =@«
(D) v
(E) ®vemm

(1)  (A). (B). (C). (D) =T (E) (2) (D). (E). (A). (B) =T (C)

(3 Q. (0. (B). (D)3 (E) @) (D). (E), (A), (C) =i (B)



Options :

5362281829. 1
5362281830. 2
5362281831. 3

5362281832. 4

Question Number : 9 Question Id : 536228472 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In which scale of measurement. classification, order and equality of units are ensured?

() Ordinal (2) Nominal
(3)  Interval (4) Ratio
Options :

5362281833. 1
5362281834. 2
5362281835. 3

5362281836. 4

Question Number : 9 Question Id : 536228472 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
o TR =1 AU | ZeRTEAT 1 i, ST AE gifvad Bt 2 e

[ i [

(1) FHT (2) ATHF
(3)  HAaw (4) =IIE
Options:

5362281833. 1
5362281834. 2
5362281835. 3

5362281836. 4



Question Number : 10 Question Id : 536228473 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I: Computer based testing ensures high rehability and validity in the process of
evaluation centred on effective and conative domains of behaviour.

Statement IT: Support materials in the form of programmed instructional models have a
tremendous potential to maximize learmng.

In the light of the above statements, choose the correct answer from the options given below:

(1)  Both Statement I and Statement II are true

(2

(

(

Both Statement I and Statement II are false

R

3

4)  Statement I 1s incorrect but Statement II 1s true

Statement I 1s correct but Statement IT is false

ey

Options:

5362281837. 1
5362281838. 2
5362281839. 3

5362281840. 4

Question Number : 10 Question Id : 536228473 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

5362281837. 1

5362281838. 2

5362281839. 3

5362281840. 4

Question Number : 11 Question Id : 536228474 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which argument may be advanced 1n support of action research in education?

(1)
(2)
(3)
4

The researcher breaks fresh ground 1n the field of enquiry.
The knowledge 1s applied to extend further generalization.
Some new principles are formulated for explaining the events.

The educational situation as well as the practitioner of education undergo a change
for the better.

Options :

5362281841. 1

5362281842. 2

5362281843. 3

5362281844. 4



Question Number : 11 Question Id : 536228474 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
forer o e oig % 9u9H § Feletad § | 99 |91 9% 29 51 g 2 7

(1) g% =9 % &9 4 9% GEEA aee] ¢ |

(2) T T | T SR B E
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Options :
5362281841. 1
5362281842. 2
5362281843. 3

5362281844. 4

Question Number : 12 Question Id : 536228475 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The eritical difference between experimental and ex post facto research lies in terms of :
(1)  Selection of sample

(2) Causal connection between two variables

(3) Use of rezearch tools

(4)  Control and manipulation of independent variable
Options :

5362281845. 1

5362281846. 2

5362281847. 3

5362281848. 4

Question Number : 12 Question Id : 536228475 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



FrefeiEd § ¥ 550 2f2 & e SR FEiea g o ey 37 7T 2 7
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Options :
5362281845. 1
5362281846. 2
5362281847. 3
5362281848. 4

Question Number : 13 Question Id : 536228476 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In establishing a research problem for a Ph.D level course, 1n the 1nitial stage which of the
following stages are crucial?

(A)  Hypothesis making
(B)  Locating a problem area from a field through survey of related hiterature
(C)  Defining the population of research and its characteristics

=

) Selecting a pointed 1ssue called a problem by a process of logical analysis

(E)  Defining and delimiting the problem

Choose the correct answer from the options given below :

(1)  (B). (D) and (E) only (2) (B).(C) and (D) only
(3)  (A). (B) and (C) only (4) (C). (D) and (E) only
Options :

5362281849. 1
5362281850. 2
5362281851. 3
5362281852. 4

Question Number : 13 Question Id : 536228476 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

EH, TR F TIEA F O Mg g i w6 e 5w 8 fette 1 9 56 w6 e
Af Ty 77

(A)  Tfer # fum #w |

(B)  wafyd Tfaca & WA & WA W A W HHE A F fafwd w4

(C) a9 F ToY 3 35! TaomaiaTl F1 gfeaid e |

(E)  TWeET 1 U 3 Hiein e |

(1)  #3 (B), (D) 4% (E) (2) Fa (B). (C) ¥R (D)
(3)  Fa (A), (B) W (C) (4) = (C), (D) 5T (B)
Options :

5362281849. 1
5362281850. 2
5362281851. 3

5362281852. 4

Question Number : 14 Question Id : 536228477 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

From the following. 1dentify those which are called non-probability sampling procedures :

(A)  Systematic sampling
(B)  Quota sampling

(C)  Stratified sampling
(D)  Purposive sampling
(E)  Snowball samplhing

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only (2) (B).(C) and (D) only
(3)  (B), (D) and (E) only (4) (C). (D) and (E) only

Options :

5362281853. 1



5362281854. 2
5362281855. 3

5362281856. 4

Question Number : 14 Question Id : 536228477 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

o P P 4 - r - r i~ e e =
HeeEd 9§ T-T9T=aa7 ST Tiae Tia=g Tiaiaml = 521 35
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(E) =&re viaee afa==e
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Options:

5362281853. 1
5362281854. 2
5362281855. 3
5362281856. 4

Question Number : 15 Question Id : 536228478 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(Given below are two statements :

Statement I: The goal of mnquiry in fundamental research 1s directed at bringing an
mcrement 1n the fund of knowledge.

Statement II: Action research 1s a research by the practitioner. for the practitioner and of
the practitioner.

In the light of the above statements. choose the correct answer from the options given below :
(1)  Both Statement I and Statement II are true

(2)  Both Statement I and Statement II are false

(3)  Statement I 1s correct but Statement IT 15 false

(4)  Statement I is incorrect but Statement II 1s true

Options :

5362281857. 1
5362281858. 2
5362281859. 3
5362281860. 4

Question Number : 15 Question Id : 536228478 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
FoF () :  Hifer 09 T =00 F 329 THH § TG FET FA1E |
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Options :
5362281857. 1
5362281858. 2
5362281859. 3

5362281860. 4



Question Number : 16 Question Id : 536228479 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Announcement of arrival and departure of trains at raillway stations 1s :

(1) Spatial communication (2) Organisational communication
(3) Public communication (4) Sectional communication
Options :

5362281861. 1
5362281862. 2
5362281863. 3

5362281864. 4

Question Number : 16 Question Id : 536228479 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1)  =ofas Fuam (2) TTEATEHF T
(3) T T @) T S
Options :

5362281861. 1
5362281862. 2
5362281863. 3

5362281864. 4

Question Number : 17 Question Id : 536228480 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Factors that contribute for effective classroom communication are :

(A) Information overload

(B) Use of unfamiliar words
(C) Balanced flow of words
(D) Circular flow of messages

(E) Mechanism to assess the feedback

Choose the most appropriate answer from the options given below :

(1) (A). (B). (C) only 2)  (B). (C). (D) only
(3)  (A). (D). (E) only 4 (C). (D). (E) only
Options :

5362281865. 1
5362281866. 2
5362281867. 3
5362281868. 4

Question Number : 17 Question Id : 536228480 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Frotffian 3 3 # 3 0w o & e w3 A e A
(A)  FFH N AAFA
(B)  =fifaa weat = swEm

(C) 92 =1 Hefetd T

(D) == T THE TR

(E) wfmafe (Fiss) % 1he & o0 &

e

(1) &= (A), (B) 31 (C) (2) a4 (B). (C) =R (D)
(3)  FA= (A). (D) 3 (E) (4) Fa= (C). (D) #¥ (E)

Options :



5362281865. 1
5362281866. 2
5362281867. 3

5362281868. 4

Question Number : 18 Question Id : 536228481 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

StatementI: The content and style of communication are the predictor varlables of
effective teaching.

Statement II: A good and communicative teacher evokes relatively less questions from the
students.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true

(2)  Both Statement I and Statement II are false

(3)  Statement I 1s correct but Statement II 15 false
(4)  Statement I 1s incorrect but Statement II 1s true

Options:

5362281869. 1
5362281870. 2
5362281871.3
5362281872.4

Question Number : 18 Question Id : 536228481 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :
5362281869. 1
5362281870. 2

5362281871.3

5362281872. 4

Question Number : 19 Question Id : 536228482 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Find out the correct sequence of the following transmissions :
(A) Narrowcasting

(B) Telegraph

(C) Broadcasting

(D) Telephone

(E) Podcasting

Choose the correct answer from the options given below :

(1) (A), (C). (B), (E), (D) (2) (B). (D), (C). (A), (E)
(3) (O (D). (E). (A). (B) 4) (D). (E). (A). (B). (C)
Options :

5362281873. 1
5362281874. 2
5362281875. 3

5362281876. 4

Question Number : 19 Question Id : 536228482 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

F=ferfiga doo = =5 Fm 9

(A) TR
B) omms
(C)  Fiswean
D) zEAEE

(E)  OiSehiezm

= T = el | W wE S g

(1) (A). (C). (B), (E). (D) (2) (B). (D), (C). (A), (E)

(3) (C). (D). (E). (A). (B) (4) (D). (E). (A). (B). (C)
Options :

5362281873. 1
5362281874. 2
5362281875. 3

5362281876. 4

Question Number : 20 Question Id : 536228483 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with List IT

ListI List IT
(Examples of Communication) (Type of Communication)

(A) A company boss telephones hislher (I) Marketing communication
secretary for some help from outside.

(B) A company issues a circular of (II) Horizontal communication
cuidelines for 1ts employees.

(C) Employees discuss certain 1ssues (III) Vertical communication
among themselves.

(D) A company sends a formal letter to1ts (IV) Informal commumnecation
retailers and wholesalers.

Choose the correct answer from the options given below :

(1) AIV), (B)-D). (C)-aI). (D)-[O
2 (A-D). B)-1D). (C)-aII). (D)-(IV)
3)  (A)-ID). (B)-IID. (C)-aV), (D)-(ID)
(4 (A)-aI), (B)-AV), (C)-(D), (D)-(IL)

Options :

5362281877. 1

5362281878. 2

5362281879. 3

5362281880. 4

Question Number : 20 Question Id : 536228483 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(B) UF FUHI AW FAANE * fo0 fGamean (D)  #fas goam

(C) =l 9 qgg W AT d == wd &1 (IID) Fearar g

(D) F FOH AW GO AN G fEas W (IV) S gue
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(1) (A)-IV), (B)-IIL). (C)-ID), (D)~
2 Q- B)-1D), (C)-(1L), (D)-IV)
(3) (A)-(ID), (B)-(IIT), (C)-(IV), (D)-(I)
4 (A)-II). B)-IV). (C)-(D). (D)-(1D)

Options :

5362281877. 1
5362281878. 2
5362281879. 3

5362281880. 4

Question Number : 21 Question Id : 536228484 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(Given below are two statements

Statement I: If an article 1s sold at a gain of 19%. then selling price 15 109% of cost price.
Statement IT: If an article 1s sold at a loss of 9%, then selling price 15 109% of cost price.

In the light of the above statements, choose the most appropriate answer from the options
o1ven bhelow :

(1)  Both Statement I and Statement II are correct
(2)  Both Statement I and Statement II are incorrect
(3)  Statement I 1s correct but Statement II 1s incorrect

(4)  Statement I 1s mcorrect but Statement II 1s correct
Options :
5362281881. 1
5362281882. 2

5362281883. 3

5362281884. 4

Question Number : 21 Question Id : 536228484 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FRFFRmmE

Fod (I): Al F75 0 19 wiow @9 7 fawa i 7 2 9 fF7 779, 9 173 #1109 v 2 |

Fort (IT): f2 #1E ag 9 vfawm 1 =17 W fage i 7 2 1 f o3, &P 99 #1109 a9 2 |
THFA FUA F AT A AR e H O A I 9 9

(1) #FAIAIITEAR |

(@  Fm [ I w8 T8 & |

() wF IwE E, by o aE T R

@ oI5 T 2 g e w2
Options :

5362281881. 1



5362281882. 2
5362281883. 3

5362281884. 4

Question Number : 22 Question Id : 536228485 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Find odd one out in from the following :

9. 12, 17, 18; 23

( 7 2 12
(3) 17 (4 19
Options :

5362281885. 1
5362281886. 2
5362281887. 3

5362281888. 4

Question Number : 22 Question Id : 536228485 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fferfiga O O 79 F1 T5=E i

a0k 121, 1935

(1) 7 (2 12
(3) 17 4 19
Options :

5362281885. 1
5362281886. 2
5362281887. 3

5362281888. 4



Question Number : 23 Question Id : 536228486 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

At what angle the hands of a clock are inchined at 15 minutes past 57

1 1

1 58—° 2) Bi-"
(5 5 (2) 5
1 i

(3 68—° 4) T2-°
) 5 (4) 5

Options :

5362281889. 1
5362281890. 2
5362281891. 3

5362281892. 4

Question Number : 23 Question Id : 536228486 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

59 #1015 fome w =i 1 geat =i @1 =i At ¢

1
1 b8—° 2y 67=°
(1) e (2) 2
1 1
3 68—° 4) T2=°
(3) 5 (4) 2
Options :

53622818809. 1
5362281890. 2
5362281891. 3
5362281892. 4

Question Number : 24 Question Id : 536228487 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(Given below are two statements :

Statement I: A number 1s divisible by 3, 1if the sum of 1ts digits 1s divisible by 3.
Statement IT: A number 1s divisible by 9. 1f the sum of its digits 1s not divisible by 9.

In the hight of the above statements, choose the most appropriate answer from the options
g1ven helow :

(1)  Both Statement I and Statement II are correct
(2)  Both Statement I and Statement II are incorrect
(3)  Statement I1s correct but Statement I 1s incorrect
(4)  Statement I1s incorrect but Statement II 1s correct
Options :
5362281893. 1
5362281894. 2
5362281895. 3

5362281896. 4

Question Number : 24 Question Id : 536228487 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fo ([): U T 3 H [99rsA 7, q0E IHE 6 W AN 3 W =9 7

FoA (II): U = 9 § faursy 2 afz 35% o1 % 97 9 & fayrsa 731 2|
IYGF FUAT o ATAT J (FiHd faeT 8 ° Haitas IugEd 39 91 ¢

(1) W 3R I3 == 2 |

(2 = I3k I3 == 781 # |

(3)  wuF 1wd 2, Ty o I 08 7 2

(4  woA [=F 77 = T e a7 |
Options:

5362281893. 1



5362281894. 2
5362281895. 3

5362281896. 4

Question Number : 25 Question Id : 536228488 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The difference between the squares of two consecutive numbers 1s 3. The smaller number 1s

1 14 (2 15
3 16 4) 17
Options :

5362281897. 1
5362281898. 2
5362281899. 3

5362281900. 4

Question Number : 25 Question Id : 536228488 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

@ 14 2 15
(3) 16 (4) 17
Options :

5362281897. 1
5362281898. 2
5362281899. 3
5362281900. 4

Question Number : 26 Question Id : 536228489 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the characteristics of the ‘middle term’ from the following :

(A) It must be present in the minor term

(B) It must be present in all positive instances in which the major term 1s present
(C)  Itisthe logical statement which 1s to be proved

(D) It must be absent 1n all negative instances in which major term 1s absent

(E)  Itis drawn from the preceding propositions

Choose the correct answer from the options given below :

(1) (A), (B) and (C) only (2) (B). (C) and (D) only
(3)  (C), (D) and (E) only (4) (A), (B) and (D) only
Options:

5362281901. 1
5362281902. 2
5362281903. 3

5362281904. 4

Question Number : 26 Question Id : 536228489 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



faffiaa 4 9 ‘99 w2 Fi fafemest = w==m Fifsm

(A) TE UH-T2 § a9y €9 § IYRYE 241 F1ET
(B) I7 T O TFEEF 98 =T H Uy 241 91eT 55 9T U2 3UfEad F |

[

(C) == 7% 97 FuH 7 T8 fug fen w1 2

(D) 7= 3 T FTHEREF 2 0 SEIES T =10 FE 616 0g 9 F |

(E) g7 Hadi ufasica o formm w2 |

1)  FaE A). (B) 3 (C) (2) =4 (B), (C) iR (D)
(3) %A« (C), (D) %R (E) (4) FAe (A), (B) i (D)

Options :

5362281901. 1
5362281902. 2
5362281903. 3

5362281904. 4

Question Number : 27 Question Id : 536228490 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

“‘Upanaya’ in Indian Nyaya Syllogism’ corresponds to which of the following in Amstotelian
Syllogism?

(1)  Major premise (2) Mmor premise
(3)  Conclusion (4) Both major and minor premises
Options :

5362281905. 1
5362281906. 2
5362281907. 3
5362281908. 4



Question Number : 27 Question Id : 536228490 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AU o = A 4 Weieiad § 9 FE 6 9 S e 0 I 6 AE A

(1)  =7ea i (2) v& iasd
@ (4) A = vE e et
Options:

5362281905. 1
5362281906. 2
5362281907. 3

5362281908. 4

Question Number : 28 Question Id : 536228491 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

“Fire 15 not warm because it 13 produced such as water”, 15 an example of which type of
fallacy?

(1)  Satpratipraksha (2) Badhit-vishaya
(3)  Virudha (4) Swaroopasidha
Options :

53622819009. 1
5362281910. 2
5362281911. 3

5362281912. 4

Question Number : 28 Question Id : 536228491 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(1)  Haufdes @) aiE-frE

[

(3) To%g (4) =%y fog



Options :

5362281909. 1
5362281910. 2
5362281911. 3

5362281912. 4

Question Number : 29 Question Id : 536228492 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
Gaven below are two statements :

Statement [: Keval vyatireki form of inference 1s that when the mddle term 1s the
differentium of the minor term.

Statement IT: Kevalanvayi form of inference 1s that when the mddle term 1s both
positively and negatively related to the major term.

In the light of the above statements, choose the correct answer from the options given below :

(1)  Both Statement [ and Statement II are true

(2)  Both Statement I and Statement II are false

(3)  Statement I 1s correct but Statement IT 1s false
(4)  Statement I 1s incorrect but Statement II 1s true

Options :

5362281913. 1
5362281914. 2
5362281915. 3

5362281916. 4

Question Number : 29 Question Id : 536228492 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



FH (I):  Faa A 98 FAF & T 051 w8, 1 92 F e 2 |

FoH (II): Fae=a 9% FAF ? (70 9 T TERF U TERAF 3 BN A A1 T § gaad
HCIE

TET FA T AF T A e § 9 R O
() #FHIARIEN w7 |
@  F [k I 2M 7o # |
(3) FFITA:FFA Tz
@) T 50 2 g Fom a8 2
Options :
5362281913. 1
5362281914. 2
5362281915. 3

5362281916. 4

Question Number : 30 Question Id : 536228493 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The knowledge of the relation between name and an object denoted by that name 1s called :

(I)  verbal testimony (2) 1mplication
(3)  inference (4) comparison
Options :

5362281917. 1
5362281918. 2
5362281919. 3

5362281920. 4

Question Number : 30 Question Id : 536228493 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



919 UF T o S @99 o 5 B (58 Tm g FiEe e s 2 osE e

(1)  IE=-T=m (2) TAfzard
(3) HIAT (4) g
Options :

5362281917. 1
5362281918. 2
5362281919. 3

5362281920. 4

Question Number : 31 Question Id : 536228494 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Ankur receives an email informing him that his credit card 1s going to be cancelled. The

email advises him to click on the provided link and sign into his online banking account to

prevent this from happening, which he does. A week later. Ankur notices that £ 10,000 has
been withdrawn from his bank account. What has Ankur fallen victim to?

(1)  Aphishing scam

(2)  ATrojan horse

(3)  Online blackmail

(4)  Avirus

Options :

5362281921. 1
5362281922. 2
5362281923. 3
5362281924. 4

Question Number : 31 Question Id : 536228494 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

S TF 35 M 7 7 A 96 e o 2 6 e e A W g e w2 = i
e A o ot - el o el e e e e B e
SR 4 W | T I 0 W OUEH B 2| OF G9R 98 A UG 2 6 36 4% @ §

10.000/- ¥/ i gt i et i 75 2 | 5 Feternad | | T 7 fwn e e

(1) e =
@ ZwEE

(3) AT A
4 amE

Options :

5362281921. 1
5362281922. 2
5362281923. 3
5362281924. 4

Question Number : 32 Question Id : 536228495 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(Given below are two statements :

Statement I: A company-wide network, closed to public access, which uses internet-type
technology 1s called World Wide Web.

Statement II: MODEM 1s a device that enables a computer to communicate over telephone
lines.

In the light of the above statements, choose the correct answer from the options given below :

(1)  Both Statement I and Statement II are true

(2)  Both Statement I and Statement II are false

(3)  Statement I 1s correct but Statement II 1s false
(4)  Statement I 13 incorrect but Statement II 1s true

Options :
5362281925. 1

5362281926. 2



5362281927. 3
5362281928. 4

Question Number : 32 Question Id : 536228495 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

o (I): T FOHI-AT A FE T H U5d A A A A e T i S s e
ﬂ.aﬁ:ﬂ £E dF HhEdl :'-'|

F9A (IT): "= (MODEM) T T5amss 7 1 F9el Fi SeiihH o5d T FHAHe e & (o 7450
T 7 |

T FH F AAF A R e 4 8 W I
(1)  FoF I3 I3A =8 3 |

(@  FE LR A e 2 |

(8) =I5 7 T Fo [Iemd 2

(4 T 1 5med 2 T o [ 2 |

Options :

5362281925. 1

5362281926. 2

5362281927. 3

5362281928. 4

Question Number : 33 Question Id : 536228496 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I: The value of hexadecimal number 21 13 33 in decimal number system.

Statement IT: The value of binary number 1110 1s 14 in decimal number system.

In the light of the above statements, choose the correct answer from the options given below :
(1)  Both Statement I and Statement II are true
(2)  Both Statement I and Statement II are falze

(3)  Statement I1s correct but Statement II 1s false
(4)  Statement I 1s incorrect but Statement II 1s true

Options:



5362281929. 1
5362281930. 2
5362281931. 3

5362281932. 4

Question Number : 33 Question Id : 536228496 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
Fo ([):  SEaE (FHETSone ) Se 21 % 9 22 Wl Toel § 33 7 2

Fo ([D) : Tazmand s 1110 =1 9 299eTa T Yoedl § 14 761 # |

FUHF Al % A A TG (e d @ WA 36
(1) = I3k 2 =2 7 |

(2) w9 I3k [ 24 7o & |

(3) w15 2 fohd T 1 7emd 2 |

(4) w1 ¥m 7 g Fom I oA 2|

Options :

5362281929. 1
5362281930. 2
5362281931. 3

5362281932. 4

Question Number : 34 Question Id : 536228497 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I wath List IT :

ListI List I
(Digital Imtiative) (Objective)
(A) NAD () Utilization of satellite communication

technologies for transmission of
education e-contents through National
channels

(I) All-digital hbrary that  stores
information (metadata) about different

(B) SWAYAM PRABHA

types of digital contents.

(C) NDL (IT) 24x7 online store house of all
academic awards wviz. certificates,
degrees efe.

(D) SWAYAM (IV) Offers various online courses for school

education and higher education.

Choose the correct answer from the options given below :

(1) (A0, B-@, (C)-I), D
(2)  (A)-II). B)-I). (C)-(ID), (D
(3 (A1), (B)-1V), (C)-1D, (D (I)
4 (A)-IV). B)-0). (C)-aD. (D)D)

Options :

5362281933. 1
5362281934. 2
5362281935. 3

5362281936. 4

Question Number : 34 Question Id : 536228497 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



o I 7 11 3 e i

T =111
(Fefreet wee) (327)
(A) NAD @) TE E F e AEE e F
(B) SWAYAM PRABHA @) =it fsfiem gmeem w1 fafi mw
fefes #dz % sm 4 wFedl (TOE)
(C) NDL (D) =+t VR F FFEmT TEgH 541 ",
felt afe %1 24x 7 i @ =W EEE|
(D) SWAYAM V) =l T wv w== fw g AbE
HAATEH TETFER oA 0 7 |

a5 7 fobetl @ W SO

(D) (A)-ID. B)-@. (C)-aII). (D)-IV)
2 @), B)-D. (C)-II). (D)-IV)
(3) (A, (B)-IV), (C)-I). (D)-T)
@ A1V, B)-D, (C)-D), (D)-ID

Options :

5362281933. 1
5362281934. 2
5362281935. 3
5362281936. 4

Question Number : 35 Question Id : 536228498 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the correct order of following different types of storage/memory components in a
computer on the basis of price per bytes of storage from most expensive to least expensive :

(A) DDR4 RAM

(B) HDD

(C) 8SD

(D) CPU Cache

Choose the correct answer from the options given below :

(1) (&), D). (C). ([B) (2) (D). A).(C).®)
(3) (A).(®).(C), D 4 D)., ®). ()



Options :

5362281937. 1
5362281938. 2
5362281939. 3
5362281940. 4

Question Number : 35 Question Id : 536228498 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

WIS (20H) % Ufd 9152 Fied F A W G Feoge 9 ety e e w2 e g
51 T T B e WA W W A v i

A) DDR4 RAM

B) HDD

C) SSD

D) CPU Cache

L

(
(
(
(

Mg M

4!

4 fo1 ™ faedi 7 1 7 s A

(1) (A). D). (C).(B) (2) (D). (A (C).(B)
(3) (A). (B).(C). D) (4) (D). (A).(B),(©C)

Options :

5362281937. 1
5362281938. 2
5362281939. 3

5362281940. 4

Question Number : 36 Question Id : 536228499 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are some metals which are released into environment from a variety of
anthropogenic sources. Identify the metals which have been of serious concern from the point
of view of pollution of water bodies

(A)  Aluminium

(B)  Copper

(C)  Mercury

(D) Cadmium

(E) Lead

Choose the most appropriate answer from the options given below :

(1) (B),(C). (E)only (2) (A). (B), (C), (E) only

(3 (C). (D). (E)only @) (A). (B). (E) only
Options :

5362281941. 1
5362281942. 2
5362281943. 3
5362281944. 4

Question Number : 36 Question Id : 536228499 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

9 F9 qqen F W oy ™ 7 5% o0 TER F AEEed @6 8 e § St e 9w e | H=

&) v
(B) @

€ W

(D) st
(E) sfimm

A

J fo3 w1 fompett & @ w1 3 g0

(1) == (B). (C). (B) @ F34 (A4). @). (), (B
3 =4 (0). D). (B) 4 9 (A). (B), (E)
Options :

5362281941. 1
5362281942. 2
5362281943. 3
5362281944. 4



Question Number : 37 Question Id : 536228500 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(Given below are two statements :

Statement [ : Two sounds of same intensity but different frequency characteristics may

appear to be of different loudness.

Statement IT: The response of human ear to noise of different frequencies 1s not umform.

In the hight of the above statements, choose the most appropriate answer from the options

o1ven below :

(I)  Both Statement I and Statement II are correct
(2)  Both Statement I and Statement II are incorrect
(3)  Statement I 1s correct but Statement II 1s incorrect

(4)  Statement I 1s mcorrect but Statement I 1s correct

Options :

5362281945. 1
5362281946. 2
5362281947.3

5362281948. 4

Question Number : 37 Question Id : 536228500 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fﬁ7ﬁ$ﬂ?ﬁﬂﬂﬂﬁ:
FoF (I): T A T ST~ A A 2 AT SFTI- T T H T 7 T

i w4 5 A e e & 8 e T

() 0 L3R M2 w8 2 |
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Options :

5362281945. 1
5362281946. 2
5362281947.3

5362281948. 4

Question Number : 38 Question Id : 536228501 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A): Long term low emission development strategies by each country are

cruclal to realizing the goals of Paris Agreement.

Reason (R) : Nationally Determined Contributions (NDCs) declared by each country are
not sufficient to keep the rise in global temperature upto 2°C above the

pre-industrial level.

In the light of the above statements, choose the most appropriate answer from the options

gven bhelow :

(1)  Both (A) and (R) are correct and (R) 1s the correct explanation of (4)
(2)  Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3)  (A)1s correct but (R) 1s not correct
(4)  (A)1s not correct but (R) 1s correct
Options:
5362281949. 1
5362281950. 2
5362281951. 3
5362281952. 4

Question Number : 38 Question Id : 536228501 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



7 Fom fr R vE A Sl (A) 91 g T R) FE R
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Options :
5362281949. 1
5362281950. 2
5362281951. 3

5362281952. 4

Question Number : 39 Question Id : 536228502 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the correct sequence (decreasing order) of lifetimes of the following greenhouse
gases In atmosphere :

(A) Methane
(B)  Nitrous oxide
(C)  Surface ozone

(D) CFC-11

Choose the correct answer from the options given below :

(1) D=®B=A) =) 2) B)=D)=A)=(C)
@3 ®B=D)=0C=>@&) @ D=B=0=A)

Options :



5362281953. 1
5362281954. 2
5362281955. 3

5362281956. 4

Question Number : 39 Question Id : 536228502 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TS 1 FEfaREd TFEe T F SEEe F A 0 (e #) O wEE i
(A) =

®) EzE AT

(C) g-7g[ A=A

(D) CFC-11

A To2 T fasbel 9 ® A A g

(1)  D=@B =@ =) 2 @®=2D)=@A=(C

3) @B®=D=(C)=©A) 4 @M=@B=(C)=@A)
Options :

5362281953. 1
5362281954. 2
5362281955. 3

5362281956. 4

Question Number : 40 Question Id : 536228503 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements
Statement [:  Hurricanes and typhoons are essentially the same as tropical cyclones.

Statement IT: Warm tropical oceans and molst awr mass are pre-requisites for the
development of tropical eyclones

In the light of the above statements, choose the most approprate answer from the options
given below :

(1)  Both Statement I and Statement II are correct

(2)  Both Statement I and Statement II are incorrect
(3)  Statement I1s correct but Statement IT 1s incorrect
(4)  Statement I 1s mcorrect but Statement II 1s correct

Options :

5362281957. 1
5362281958. 2
5362281959. 3

5362281960. 4

Question Number : 40 Question Id : 536228503 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
THAFAETmE .
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Options :

5362281957. 1

5362281958. 2

5362281959. 3

5362281960. 4



Question Number : 41 Question Id : 536228504 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following modality of higher education 1s the example of evolution 1n the post
independence India?
(1)  Teacher Education
(2)  Technical Education
(3)  Legal Education
(4)  Distance Education

Options:

5362281961. 1

5362281962. 2

5362281963. 3

5362281964. 4

Question Number : 41 Question Id : 536228504 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

3= Tore =it F=fafiaa O § 68 TR 1 3299 SaA 9ed q 57

(1)  forer forem
(2) qeTh] TaTe
(3) Tafus e
(4 Ty e
Options :
5362281961. 1
5362281962. 2

5362281963. 3
5362281964. 4



Question Number : 42 Question Id : 536228505 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
The education 1mported through institutions of higher learning in India such as ‘Sanskrit
Vidyapith' is an example of
(1)  Non-conventional learning programmes
(2)  Value Education Programmes
(3)  Oriental learning Programmes

(4)  Professional education programmes

Options :

5362281965. 1
5362281966. 2
5362281967. 3
5362281968. 4

Question Number : 42 Question Id : 536228505 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
W AT A 3E 3o fgm W F Oem 9 JHa e Fend § 8 e
TR 27
(1)  TH-TRTH AE FEEA
@) T I T FEA
(3) WA S
(&)  =EEE M

Options :

5362281965. 1
5362281966. 2
5362281967. 3



5362281968. 4

Question Number : 43 Question Id : 536228506 Question Type : MCQ Option Shuffling

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

List I gives stages of development
Match List I wath Last IT

ListI
(Stage of development of values)
(A) Stagel
(B) Stagell
(C) Stagelll
(D) StagelV

of values while List II their outcomes

List IT
(Outcomes)
(I Value collection through mvitation
(II) Inner evaluation
(ITIT) Value consohdation
(IV) Value clarfication

Choose the correct answer from the options given below :

(1) (A)-ID), (B)-III), (C)-(D), D)-(IV)
(2) A0, B)-II). (C)-aV), (D)-(III)
3)  A-IV), B)-@). (C)-II), (D)-1D
(4 A)I). (B)-1V). (C)-aD, (D)-T)

Options :

5362281969. 1
5362281970. 2
5362281971. 3

5362281972. 4

:Nols

Question Number : 43 Question Id : 536228506 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



a1 Fi g1 & gt Hitaw g1 4 98 fawm % W o w # weis g0l § S ahem

feu 7o &
Tl T-II
(4) =l ([) T % qEAR § g FE
(B) = II (II) an g
(€) = III (D) 57 793
D) =m IV (V) 77a Tad ergam

(1) A)-aD. B)-D). (C-[D. D)-IV)
2 A-D. B)-ID). (C)-aV). (D)-(III)
(3)  (A)-aV), (B)-@). (O)-III). (D)D)
(4)  (A)-II), (B)-IV), (C)-I). M)}-0)

Options:

5362281969. 1
5362281970. 2
5362281971.3
5362281972. 4

Question Number : 44 Question Id : 536228507 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(iven below are two statements :

Statement [: The vice-chancellor of a University 1s an executive head who 1s vested with
administrative as well as academic responsibilities,

Statement IT: For a charismatic leadership attrbute 1n a vice chancellor both transactional
as well as transformational leadership competencies are needed.

In the light of the above statements, choose the correct answer from the options given below :
(1)  Both Statement I and Statement II are true
(2)  Both Statement I and Statement II are false
(3)  Statement I 1s correct but Statement IT 1s false
(4)  Statement I 1s incorrect but Statement II 1s true
Options :
5362281973. 1
5362281974. 2
5362281975. 3

5362281976. 4

Question Number : 44 Question Id : 536228507 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
R Fmfmm.

T (I): Tl i Tevatrers 1 e JeR FPrR TG E ¢ 9 T e w s

31 Jf_",. .3-1\ rE{?{F[fw
o (1) : ol ol o I e 0 7 o feft, 3o HoramIcer SISO el A
A L R |

T FAT F A H iR e 68 e o
(1) TR IR 29 o9 7 |

@  FF IR I3 T 2 |

(8) FF 177 g Fo [ Tem 2

(&) FF 13w 2 fig o w2

Options :

5362281973. 1

5362281974. 2



5362281975. 3
5362281976. 4

Question Number : 45 Question Id : 536228508 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
For ensuring effective administration which of the following 1s most difficult?

(1) Changing the knowledge of individuals and eroups
(2) Changing the zkill of individuals and groups

(3) Changing the attitude of individuals and groups
(4) Changing the behaviour of individuals and groups

Options :

5362281977. 1
5362281978. 2
5362281979. 3

5362281980. 4

Question Number : 45 Question Id : 536228508 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T TeER giAfved A 1 Fefafaa 8 @ SE o waitas w3 27

(1)  =afFad R Fuel F T i GHarad w0
(3)  =afGaal = T % TIfT i qHEtad we
(4  =fFaEl 3 WE F SHEEn F UiEtd we

Options:

5362281977. 1

5362281978. 2

5362281979. 3

5362281980. 4



Sub-Section Number : 3
Sub-Section Id : 53622821

Question Shuffling Allowed : Yes

Question Id : 536228509 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (46 to 50)
Question Label : Comprehension

Read the passage carefully and answer questions from 46 to 30.

Our bfe exists by constant interchange and replenishment. Every day. food 1s needed for the
body to survive. For our vital energies to thrive every day. vital nourishment 1s needed. For
our minds to be sharp and intelligent every day. an increase in knowledge 1s needed. But a
human does not live by nourishment of the mind, life energy and body alone, but also by the
nourishment that comes by the connection with our Divine source. This deeper nourishment
1s needed each day for our Inmost well-being. To connect to our deeper self and receive its
nourishment, our awareness needs to touch deeper than our mind, vital energy and body. A
mere mental awareness cannot touch this inner-most space. Our efforts too can take us only
up to a certain point. The true question is, how much do we really want to connect with the
divimty within us. If 1t 1s a sincere inner urge, then at some point. we realize that there 1s a
Presence that lives within us and carmes us forward. To recogmze this Presence when it
reveals 1tself to us. we can begin to know its nature. It exists quietly in the background.
often unnoticed by our surface self. When we are lost in the whirls of our mind. vital life-
energy and body. we lose our connection with this ‘presence’. When we remember and
sincerely seek to connect, sooner or later, the Presence’ makes 1itself felt.

Sub questions

Question Number : 46 Question Id : 536228510 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What 1z needed for the mind to be active?

(1)  Life energy (2) Nourishment for body
(3)  More knowledge (4) Constant replenishment of energy
Options :

5362281981. 1
5362281982. 2

5362281983. 3



5362281984. 4

Question Number : 47 Question Id : 536228511 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Our inmost well-being depends upon

(1) Sharper intellect (2) Nourishment of body and mind
(3)  Acceptance of life energies (4) Connect with supreme power
Options :

5362281985. 1
5362281986. 2
5362281987. 3

5362281988. 4

Question Number : 48 Question Id : 536228512 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

How can we realize the Divine Presence?

(1) By searching for the divine

(2) By recognising its presence within us

(3) By reaching the innermost space

(4) By making sincere efforts within one’s own self
Options :

5362281989. 1
5362281990. 2
5362281991. 3
5362281992. 4

Question Number : 49 Question Id : 536228513 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The Divine Presence 1n each individual can be found through

(1)  One's own realization of divinity (2) The wharls of our mind
(3)  The surface self (4) Knowing the nature of agitated mind
Options :

5362281993. 1
5362281994. 2
5362281995. 3

5362281996. 4

Question Number : 50 Question Id : 536228514 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The passage focusses on the

(1) Need for body replenishment

(2 Intellectual thoughts

(3 Importance of connect with the Divine Presence
(4) Vital hife energies

Options:

5362281997. 1
5362281998. 2
5362281999. 3

5362282000. 4

Question Id : 536228509 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (46 to 50)

Question Label : Comprehension



fretfeiigd T B SAFgE 9feu Ta I TvE T G 46 9 50 o % I At -
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Sub questions

Question Number : 46 Question Id : 536228510 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1) SE-F (2) AR = foru gEamn
(3)  oAfeF FH (4) F1 FI gaq wegfa

Options:

5362281981. 1
5362281982. 2
5362281983. 3

5362281984. 4

Question Number : 47 Question Id : 536228511 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



FHN HA=TaH A4 36 T FH A #

(1) e wfas (2) THR T T F T
(3)  F= T F = (4) T T F Y HEG B
Options :

5362281985. 1
5362281986. 2
5362281987. 3

5362281988. 4

Question Number : 48 Question Id : 536228512 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

feoran i sufcufd =1 =0 FFO TR ¥ sTuE B wwd 2 7

(1) T i @i g
(2)  EW = g Ifeufd i TEaEE g
(3)  H=EH T W AT = F g
(4) AW @\ % A fvEe mw FE F 2w
Options :
5362281989. 1
5362281990. 2
5362281991. 3

5362281992. 4

Question Number : 49 Question Id : 536228513 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T S | 25 I F 39 3N 2 o 5EAT ¢

(1) =3t g s & =9 o 3 (2) TR % 9 g
(3)  =aE = W (4) e 79 1 TFA F A F G
Options :

5362281993. 1



5362281994. 2
5362281995. 3

5362281996. 4

Question Number : 50 Question Id : 536228514 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

e fAafafag § O 39 W Hifea 2

(1) v = gegfd i AEvEsa W Atfgs En W
(2) | ra_iq- e 9

3 fTeEufRFaydegsi % Eaw

(4) AT 9 T W
Options :
5362281997. 1
5362281998. 2
5362281999. 3

5362282000. 4

PART II Commerce
Section Id : 5362288
Section Number : 2
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Mark As Answered Required? : Yes
Sub-Section Number : 1

Sub-Section Id : 53622822



Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 536228515 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Meaning of unpaid seller is

. The person who has not paid the price

. The person who has sold the goods and received the price

. The person who has sold the goods and has not yet received the price
. The person who has not sold the goods

1

2

4
Options:
5362282001. 1
5362282002. 2
5362282003. 3

5362282004. 4

Question Number : 51 Question Id : 536228515 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

HYyad fasbar a1 3l g :

1. 9g oufad fore 4o &1 Y el fodl &

2. g SAfad o A o9 16 § $iR ST 459 Ui &1 a1 g

3. 9¢ oufad forg T af o fean & difa sifl 9o I 39T 4ou UId el g3l &
4. 98 fad g4 g gl dd1 g

Options :

5362282001. 1
5362282002. 2
5362282003. 3

5362282004. 4

Question Number : 52 Question Id : 536228516 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

Swachh Bharat Abhiyan is an example of

1. Sustainable marketing
2. Social marketing

3. Services marketing

4. Relationship marketing

Options:

5362282005. 1
5362282006. 2
5362282007. 3

5362282008. 4

Question Number : 52 Question Id : 536228516 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Ta=s HRd AfiaH feger IgE g2

1. 9dd fauuH

2. gHETfeId fduuH
3, "4l f[quuH

4, Hee [ggur
Options :
5362282005. 1
5362282006. 2
5362282007. 3

5362282008. 4

Question Number : 53 Question Id : 536228517 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which type of studies would be most appropriate to use in order to measure changed
opinions of consumers repeatedly?

. Focus group studies
. Shadowing studies
. Longitudinal studies

[ S S R 0 EY

. Experimental studies

Options :

53622820009. 1
5362282010. 2
5362282011. 3

5362282012. 4

Question Number : 53 Question Id : 536228517 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

JUHIFISH @1 IR-TR Fead! I BT ABaT B & O (59 SRS BT IJTIRT BT
Taiide 3ugad g

1. Bl TE AT
2. Oicr=81aT Heg-

3. 3rfaed Sreu
4, YIffeh g

Options :
53622820009. 1
5362282010. 2

5362282011. 3

5362282012. 4

Question Number : 54 Question Id : 536228518 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which type of retailers involve in comparatively low prices as a major selling point
combined with the reduced costs of doing business?

1. Convenience stores
2. Discount retailers

3. Limited line retailers
4. Category killer stores

Options :

5362282013. 1
5362282014. 2
5362282015. 3

5362282016. 4

Question Number : 54 Question Id : 536228518 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

o d HPR o Gel fashel HUaTHd BH DIHd 1Gd & AR 39 (01 fash! I 7Hd fa=iva
&1 0 § forgd [ 3 ogagrd ®3- B arTd Y 9¢ 9l 87

1. gfaen €R

2. fearget e fagear

3, Yifere g ge fashdl
4. Yuit 1D TR

Options:

5362282013. 1
5362282014. 2
5362282015. 3
5362282016. 4

Question Number : 55 Question Id : 536228519 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Tele - Marketing is a part of

1. Viral marketing

2. Social marketing

3. Direct marketing

4. Relationship marketing

Options :

5362282017. 1
5362282018. 2
5362282019. 3

5362282020. 4

Question Number : 55 Question Id : 536228519 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
<oil-fauuE 399 4 [t feen a7

1. AR faQuH
2. graTfeiss fquuH
3. Ug& fququH
4. G f[guoH

Options :

5362282017. 1
5362282018. 2
5362282019. 3

5362282020. 4

Question Number : 56 Question Id : 536228520 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



After concept testing, a firm would engage in which of the following stage in developing
and marketing a new product?

1. Test marketing
2. Marketing strategy development
3. Business analysis
4. Product development
Options:
5362282021. 1
5362282022. 2
5362282023. 3

5362282024. 4

Question Number : 56 Question Id : 536228520 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TdhedH1 WA & Uy, fodl U 3dre & fady 3R fquvH & FefaRed ol § 3§ @l
wH {6 B H Hgd gl

1. TS1&10T fauom

2. [quu TurHld &1 faera
3. gAYy ey

4. JdTG faard

Options :

5362282021. 1
5362282022. 2
5362282023. 3

5362282024. 4

Question Number : 57 Question Id : 536228521 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



A marketer needs to be aware of the criteria by which the effectiveness of their
segmentation procedures can be assessed. Which of the following is NOT a criterion for
evaluating the resulting market segments?

1. Perishability
2. Size of the resulting segment
3. Measurability
4. Accessibility
Options:
5362282025. 1
5362282026. 2
5362282027. 3

5362282028. 4

Question Number : 57 Question Id : 536228521 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fquuFeal B 39 AMEUS] & IR H GHGN] 6 &1 96d gidl § fo-d gl 3@
WSIHI0] Ulsharsit & YHEAGHdl & haH fhal of 9adl & | Fefeiad § @ & 9
URUNTAS SToR HSIHRU & Hedid- $- & AHUS Tol 67

1. TR
2. G GS Bl HHR
3. URHT

4.Tgd

Options :

5362282025. 1
5362282026. 2
5362282027. 3
5362282028. 4

Question Number : 58 Question Id : 536228522 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



"Skimming" in e-banking refers to

1. Identifying fraudsters copying vital information from credit cards
2. Multiple transactions by one credit card

3. Conversion of a debit card into credit card

4. Excessive charge for online services

Options :

5362282029. 1
5362282030. 2
5362282031. 3

5362282032. 4

Question Number : 58 Question Id : 536228522 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

2-afd1 I fema &1 3y &

1. hfee ®le U Heaqul Yo &1 Ufddid B ard URaers anll &1 e ®l
2. U oisc BTs U dgd R YATER Bl

3. Sf8e HIS &1 Hise &8 § YuRddd BT

4, 39 T3 a1l & 78 YHRI H ffagfg &

Options :

5362282029. 1
5362282030. 2
5362282031. 3
5362282032. 4

Question Number : 59 Question Id : 536228523 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Belated return u/s 139(4) can be filled at any time

. Before the expiry of relevant assessment year
. Before the expiry of one year from relevant assessment year

L [ —

. Before the expiry of relevant assessment year or before the assessment is complete,
whichever is earlier
4. Before the expiry of one year from the end of the relevant assessment year or before

the assessment year, whichever is earlier

Options :

5362282033. 1

5362282034. 2

5362282035. 3

5362282036. 4

Question Number : 59 Question Id : 536228523 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
YRT 129 (4) T SFF1d [dciad 10 B [Gavull & GIiad [T o Gad &:

1. TTd R FHRo 9y g g 1 U

2. Tird @R Ay ad 4 o a¥ [ g Y Ugd
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4. rd @R fuRur o &) g1t § ueh ad g g U uge a1 i Huier ad g gH € ugd,
ot ¥t ogel §

Options :

5362282033. 1
5362282034. 2
5362282035. 3
5362282036. 4

Question Number : 60 Question Id : 536228524 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Tax audit is compulsory in case of a person is carring on business whose gross turnover
exceeds

. Rs.60 Lakhs
. Rs.1 Crore
. Rs.40 Lakhs
. Rs.2 Crore

- T [ N Ry

Options :

5362282037. 1
5362282038. 2
5362282039. 3

5362282040. 4

Question Number : 60 Question Id : 536228524 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

BIs SO H- dIcl odfad & H1Hc 8 & 3havl SHard 8 9idl & 4fe 39d1 9hd
ai fﬂ?:

.60 TG BUU T ¥ &
ARSI AT §
.40 TG BUU T ¥ §
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B

Options :

5362282037. 1
5362282038. 2
5362282039. 3

5362282040. 4

Question Number : 61 Question Id : 536228525 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Mr.X is entitled to transport allowance of Rs.1,800 p.m. for commuting from his
residence to office and back and he spends Rs.1,400 p.m. The exemption shall be
allowed of

. Rs.1,800 p.m.
. Rs.1,400 p.m.
. Rs.1,600 p.m.
Nil

T

Options:

5362282041. 1
5362282042. 2
5362282043. 3

5362282044. 4

Question Number : 61 Question Id : 536228525 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ST X @I 30 a9 ®H € Sriad 3 R $Eiad 9 @ a0y o & o ufade
1800 TUY @1 I 4Tl U ®- B 8HGRI & 3K a8 WdHIg 1400 00 @9 Pid 6| 35
fob e $Ud o1 e o weE

1. 1800 T4 UfgHE
2. 1400 300 ufgHrE
3. 1600 T4 UfgHE

4. 34

Options :

5362282041. 1
5362282042. 2
5362282043. 3

5362282044. 4

Question Number : 62 Question Id : 536228526 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Bliefs, attitudes, traditions and expectations which are shared by group members is
called

. Group norms
. Group communication
. Group cohesiveness

S T R |

. Group structure

Options :

5362282045. 1
5362282046. 2
5362282047. 3

5362282048. 4

Question Number : 62 Question Id : 536228526 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

e Ued! g1 ur= foot S arel fayr, siftgidl, TReaRiadl SR suamsf @i
------------ IS REIGI

1. JHg WfdHH
2. HE Ty
3. g dda@d]
4. gHE XTI

Options :

5362282045. 1
5362282046. 2
5362282047. 3

5362282048. 4

Question Number : 63 Question Id : 536228527 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following method of training is NOT a part of the off - the job training
method?

1. Sensitivity training
2. Transitional analysis
3. Apprenticeship

4. Conference method

Options :

5362282049. 1
5362282050. 2
5362282051. 3

5362282052. 4

Question Number : 63 Question Id : 536228527 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fafaied § © @ O giRneor G o
&-wTg winem fafy &t s T 87

1. HdgTgiear urEnemr
2. GHHUEIC g2y

3. TRragen uifeafam)
4. T fafy

Options :

5362282049. 1
5362282050. 2
5362282051. 3

5362282052. 4

Question Number : 64 Question Id : 536228528 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



In a moderately skewed distribution, which of following equation indicates the
relationship among mean, median and mode?

1. Mean = 2 Mode - 3 Median
2. Mode = 3 Median - 2 Mean
3. Median = 3 Mean - 2 Mode
4. Mode = 3 Mean - 2 Median

Options :

5362282053. 1
5362282054. 2
5362282055. 3
5362282056. 4

Question Number : 64 Question Id : 536228528 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ot wmr U ¥ faudigd s # fafifad # ¥ o 3 gHiwRv e, wieeT iR
dgad & did YaY B GRMidl 87

1. 71 = 2 9gad - 3 AfEST
2. 9g0® = 3 AI®T - 2 A1
3. AT = 3 71 - 2 9ga®
4. 9g0® = 3 HI - 2 A

Options :

5362282053. 1
5362282054. 2
5362282055. 3
5362282056. 4

Question Number : 65 Question Id : 536228529 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



If on an average, 2 customers arrive at shopping mall per minute, what is the probability
that in a given minute, exactly 3 customers will arrive? ( e = 0.1353)

1.0.1804
2.0.3532
3. 0.2352
4,0.1404

Options :

5362282057. 1
5362282058. 2
5362282059. 3
5362282060. 4

Question Number : 65 Question Id : 536228529 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

afe; U MG Hiet H S 9d ©U 4 Ufd e 2 7150 Ugad & df 54 a1 @ fdaHi Wil &
fop fepedt few U fie & faepd 3 81 9I8d Ugdi? (e2 = 0.1353)

1.0.1804
2.0.3532
3.0.2352

4. 0.1404
Options :
5362282057. 1
5362282058. 2
5362282059. 3

5362282060. 4

Question Number : 66 Question Id : 536228530 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Goodness of fit of a distribution is tested by

L test
. F - test
. Chi - square test
. £ - test

Fu I P —

Options:

5362282061. 1
5362282062. 2
5362282063. 3
5362282064. 4

Question Number : 66 Question Id : 536228530 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
fobdl s @1 [e49 A% fthe BT & fhar Sidl g

A SR BRI
U SR ERI
. I3 TR & R
4. 98 I g

L

Options :

5362282061. 1
5362282062. 2
5362282063. 3

5362282064. 4

Question Number : 67 Question Id : 536228531 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



In a survevy people are choosed from class friends or neighbours for the purpose of
knowing their preference for a certain brand of soft drink, is an example of

1. Convenience sampling
2. Judgement sampling
3. Cluster sampling

4. Startified sampling

Options :

5362282065. 1
5362282066. 2
5362282067. 3

5362282068. 4

Question Number : 67 Question Id : 536228531 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

for it wagrr o fopddl wiie favy & it fEd &I wa1el U o3 & aR ¥ §F- & Waiad 4
e & ol a1 ysiial § I T & 9o 301 o 9l &, 9 SaIeXul & -

1. gfasn gfd=gd @1
2. TG yfcare @1
3. bl Ui @I
4, THIDd Uidag= &

Options :

5362282065. 1
5362282066. 2
5362282067. 3

5362282068. 4

Question Number : 68 Question Id : 536228532 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The following information is available for Ravi corporation

EPS-Rs4

ROI - 18%

Rate of return required by shareholders - 15%

What will the price per share as per Walter model if the payout ratio is 40%?7?

1.-Rs. 20.87
2::fis: 2033
3. Rs. 28.80
4. Rs. 30.63

Options :

5362282069. 1
5362282070. 2
5362282071. 3

5362282072. 4

Question Number : 68 Question Id : 536228532 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Hid €1 778 SHeRI U, aTee’ Aled & YR Uid 3% I Farfa afe st surd 40%
gl

sHiug =45
3R 31 375 = 18%
SHYURB! gRT Ul Ufdhe &3 = 15%

1.29.87 300
2.29.33 340
3. 28.80 3
4.30.63 304

Options :
53622820609. 1
5362282070.

5362282071.

A wWN

5362282072.



Question Number : 69 Question Id : 536228533 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Suppose that a firm has 20% debts and 80% equity in its capital structure. The cost of
debts and cost of equity are assumed to be 10% and 15% respectively, What is the
overall cost of capital?

. 11%
12%

2w oo
—
[
=]

Options :

5362282073. 1
5362282074. 2
5362282075. 3

5362282076. 4

Question Number : 69 Question Id : 536228533 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
HHT b faradt tH bl Yol TRa-1 | 209 F01 3R 80% FHAT 3= (3D g1 K0 3R
AT 3f2 DI AT HHRL: 10% 3R 15% & | SHD! G YoliTd TRId &1 57

1 Ud=Td
2 giderd

3 gfderd
IR

L

.
]
]
]

P L ad —
P

Options :

5362282073. 1
5362282074. 2
5362282075. 3

5362282076. 4

Question Number : 70 Question Id : 536228534 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A Ltd. has a share capital of 5,000 equity shares of Rs.100 each having a market value of
Rs. 150 per share. The company wants to raise additional funds of Rs.1,20,000 and offers
to the existing shareholders the right to apply for a new share at Rs.120 for every five
share held. What would be the value of right?

1. Rs.5
2. Rs.b
3.Rs.6.5
4. Rs.5.5
Options:
5362282077. 1
5362282078. 2
5362282079. 3

5362282080. 4

Question Number : 70 Question Id : 536228534 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

U [HeS Bl Bi 3% Guil 5,000 THAT 31 & FoH Udd ®1 5 100 ST Y1 Ul
321 BT SR Y4 150 $UY &1 BT 1,20,000 T i SHidRad FE SeH 9red 8 3R
Tio[al SIRUR®] @ R U 710 Tde Ui o2 & o 120 00 &1 @R WS U T &
[RT0 3Tde X & SMUBR BI UREHT Bl &1 HUBR Bl Ged Tl 82

1.5 %04
26300
3. 6.5 500
4.5.5%0Y

Options :

5362282077. 1
5362282078. 2
5362282079. 3

5362282080. 4



Question Number : 71 Question Id : 536228535 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is the most pervasive and sustaining objectives of financial
decision making?

1. Profit maximization

2. Earnings maximization
3. Value maximization

4. Cost minimization

Options :

5362282081. 1
5362282082. 2
5362282083. 3
5362282084. 4

Question Number : 71 Question Id : 536228535 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
fFafaied ® 9 & 91 faxig o uftear &1 9aifte e 3R $19d 18- arl 3594 &7

1. TTH SHfSHTHBI
2. 3 HiTHIH B
3. o4 S dHIB
4, AT GAGHIDT]

Options :

5362282081. 1
5362282082. 2
5362282083. 3
5362282084. 4

Question Number : 72 Question Id : 536228536 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Political risk management comes in the ambit of which of the following financial
decisions?

1. Non - conventional capital budgeting
2. International currency arbitrage

3. Foreign exchange market

4, Multinational capital budgeting

Options :

5362282085. 1
5362282086. 2
5362282087. 3

5362282088. 4

Question Number : 72 Question Id : 536228536 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
e SiReH Uete Fafaied J 9 fiod faxiia Fuig & arae | s g2

1. HURHER® Juil Fe1fdT
2. SAUPTT G Sf~eRUUH
3. faci gg1 aeiR

4, SEUTT goll FoifeT

Options :

5362282085. 1
5362282086. 2
5362282087. 3

5362282088. 4

Question Number : 73 Question Id : 536228537 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



A company purchased a machinery on 01-01-2015 for a sum of Rs.60,000. The retail
price index on that date was 150. What is the value of machinery according to CPP
method on 315 December 2015, When the price index was 200,

1. Rs. 1,00,000
2. Rs. 90,000

3. Rs. 80,000

4, Rs. 70,000
Options:
53622820809. 1
5362282090. 2
5362282091. 3

5362282092. 4

Question Number : 73 Question Id : 536228537 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

UD HUH1 A 01-01-2015 Pl TP HRIFRT 60,000 T H GiG! | 39 dRIE H G&dl e i
150 4| I 0 ff 7S & 3FER 31 fGGwaR 2015 @I, 979 9 Gl 200 4, 7= &1 diFd
57

.1,00,000 4Y
. 90,000 3T
. 80,000 3T
. 70,000 30

Fu L [ —

Options:

5362282089. 1
5362282090. 2
5362282091. 3
5362282092. 4

Question Number : 74 Question Id : 536228538 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



X and Y are partners in a business sharing profit and losses in the ratio of 3:2. They admit
Z as a new partner with 1/5 share in the profits. Calculate the new profit sharing ratio of
the partners.

. 12:8:5
.12:86
P e
S Pt

B

Options :

5362282093. 1
5362282094. 2
5362282095. 3

5362282096. 4

Question Number : 74 Question Id : 536228538 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

X 3R v Us SR H & SR g & 3:2 & 3ud ¥ UieieR g1 SeH z Bl ey & 1/5 4
YR & T JeR & &0 § itd foan iR d Ty &1 =01 9re 3HuTd &1 &7

. 12:8:5
. 12:8:6
- 122716
123

Fa L P —

Options :

5362282093. 1
5362282094. 2
5362282095. 3

5362282096. 4

Question Number : 75 Question Id : 536228539 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



If Activity Ratio of a firm is 80% and capacity ratio is 120%, find out its efficiency ratio.

. 150%

. 100%

. 80%

. 66.67%

g pd =

Options :

5362282097. 1
5362282098. 2
5362282099. 3

5362282100. 4

Question Number : 75 Question Id : 536228539 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

U U I P febaIed SHUTT 80% & 3R &HdT U 120% &, 39 BIU&HT SFUId
@l Ffgd B

1. 150%

2. 100%

3. 80%

4. 66.67%
Options :
5362282097. 1
5362282098. 2
5362282099. 3

5362282100. 4

Question Number : 76 Question Id : 536228540 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



When current ratio is 2:1 and if equal increase in current assets and current liabilities
would result in

. No change in current ratio
. Increase in current ratio

1
2
3. Decrease in current ratio
4

. Current ratio will double
Options :

5362282101. 1
5362282102. 2
5362282103. 3

5362282104. 4

Question Number : 76 Question Id : 536228540 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

e 9Te] 3T 2:1 8 IR TS 91 uiEufa SR 9re] agdl &1 99E w9 9 gel ol dl
ST ORI BT

1. 9T 3T H DI gRad- el
2. 91 Ua H 3 g

3. T T | HH

4. T TG & T B

Options :

5362282101. 1
5362282102. 2
5362282103. 3

5362282104. 4

Question Number : 77 Question Id : 536228541 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which one of the following is a correct equation?

1. Opening capital = Closing capital + Additional capital - Drawings - Profit
2. Opening capital = Closing capital + Drawings - Additional capital - Losses
3. Opening capital = Closing capital + Drawings - Additional capital - Profit
4, Opening capital = Closing capital - Drawings - Additional capital - Profit

Options :

5362282105. 1

5362282106. 2

5362282107. 3

5362282108. 4

Question Number : 77 Question Id : 536228541 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
FEfead § 9 ®F W g1 GHIBRU 82

1. HRIHD Uofl = HfdH gofl + Sifafyad guil - 21830 - 1y
2. R Uil = Sifad Goll + e - SHidiked doll - grial
3. HRIHD Yol = HfdH Uil + Mg - 3ifdiad uil - a1y
4, ARTHS il = HfdH geil - e - Hfdfiad geil - Ay
Options :
5362282105. 1
5362282106. 2
5362282107. 3

5362282108. 4

Question Number : 78 Question Id : 536228542 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



In penetration pricing a business firm seeks to access deeper market penetration by
keeping prices -------------——-—-

1. Higher

2. Competitive
3. Low

4. Flexible

Options :

53622821009. 1
5362282110. 2
5362282111. 3

5362282112. 4

Question Number : 78 Question Id : 536228542 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

3T U9 PiAd YR H 35 BH DIFal B - e TGH 99X | el U a1
EIEGI

1. 3ddd?

2. Uit

3. ®H

4. gRad-=id

Options :

5362282109. 1
5362282110. 2
5362282111. 3

5362282112. 4

Question Number : 79 Question Id : 536228543 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Sub - optimal allocation of resources under monopoly to cause social welfare loss is
often inferred as

1. Deadweight loss
2. Allocation drift
3. Monopoly loss
4. Opportunity loss

Options :

5362282113. 1
5362282114. 2
5362282115. 3

5362282116. 4

Question Number : 79 Question Id : 536228543 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

UHIYER & 3aid S9eH! & 3U-35ad e, fgd SR JHifed Hedr & gl gl
B s & wUH JuaEd foar a1 g

Options :

5362282113. 1
5362282114. 2
5362282115. 3
5362282116. 4

Question Number : 80 Question Id : 536228544 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following is the first order conditions to profit maximisation?

IR - TE

2. MR = MC

3. MR cuts MC from below

4. Slope of MC curve must be higher than that of MR curve

Options:

5362282117.1
5362282118. 2
5362282119.3
5362282120. 4

Question Number : 80 Question Id : 536228544 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
FafeiRad | 9 D °l a1y @ aHmRU B UYH HH B G20 o7

1. P 311 - P Arld

2. GiH 3 = HE IR

3. O A 9% SEd aid a@ of id § @edl &

4. AT AFd 3% @1 car SEd 319 3% ®1 caH 8 a9 6l 3al el dled

Options :

5362282117.1
5362282118. 2
5362282119.3

5362282120. 4

Question Number : 81 Question Id : 536228545 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



A price ceiling below the equilibrium price often leads to ---------—-

1. Commodity glut
2. Tax burdon on consumer
3. Shortage of the commoedity and black marketing
4. Export of commodity
Options :
5362282121. 1
5362282122. 2
5362282123.3

5362282124. 4

Question Number : 81 Question Id : 536228545 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
e DiHd 9 e T a% & H1Ha & Faad 1 Ui &3 1 iR Ui gl g -

1. 3% B AR

2. JUHIEISM R @R HR

3. O] @I BH AR BIAEER
4. 3% @1 (4aid

Options :

5362282121.1
5362282122.2
5362282123.3

5362282124. 4

Question Number : 82 Question Id : 536228546 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



For a decline in price, Total Revenue (TR) increases if demand is ---------—-—--

1. Elastic

2. Inelastic

3. Unitary elastic
4, Zero elastic
Options :
5362282125. 1
5362282126. 2
5362282127.3

5362282128. 4

Question Number : 82 Question Id : 536228546 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

®IId & HH U, Hdl Uoid (€1 3R) g6l & afG =7 -
1.aERaE

2. 3t &

3. TOIETd araRia g

4. g T &

Options :

5362282125. 1
5362282126. 2
5362282127.3
5362282128. 4

Question Number : 83 Question Id : 536228547 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



When consumers seeks to be different and exclusive by demanding less of a commodity
as more people consumes it. This phenomenon is known as

1. Bandwagen effect
2. Snob effect
3. Substitution effect
4, Price effect

Options :

5362282129. 1
5362282130. 2
5362282131.3

5362282132. 4

Question Number : 83 Question Id : 536228547 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

o 34l g% 1 ITHNT STTE] T B3 I & ol JUHIT 3 9% D1 HiTl HH Sy
3R 3 (&1 d1ed €1 59 uRbe & &1 &gl ol &7

1. 4847H UUIG
2. HEuYE

3. Ui UHTd
4, DI YU

Options :

5362282129. 1
5362282130. 2
5362282131.3
5362282132. 4

Question Number : 84 Question Id : 536228548 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following policy has lost its sheen consequent to implementation of the
GST Laws in India?

1. Monetary policy
2. Fiscal policy
3. Trade policy
4. Exim policy

Options :

5362282133. 1
5362282134.2
5362282135.3
5362282136. 4

Question Number : 84 Question Id : 536228548 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YRd § 9% Ud Jd1 dR W9yl &l @F] bt & & URumRaEy feg Hifd &1 996 Bid!
U 7T 67

1. Aifee ifg

2. TopiEy Jifg

3, TR Aifd

4, 3marg-fFag $ifg
Options :
5362282133. 1
5362282134. 2
5362282135, 3

5362282136. 4

Question Number : 85 Question Id : 536228549 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Reverse Repo Rate is a tool used by the Reserve Bank of India primarily to

1. Inject liquidity
2. Absorb liquidity
3. Protect bank credit

4, Build reserve

Options :

5362282137. 1
5362282138. 2
5362282139. 3

5362282140. 4

Question Number : 85 Question Id : 536228549 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Red ¥t ¥e yRdia fed § gR1 g —-—-—----—- o fou v foben & are 9red €

1. TLd] BT & DI
2. JLEdT BT AT B
3. 9 g BT W& S
4, HRI&T Y Bl 951
Options :
5362282137. 1
5362282138. 2
5362282139. 3

5362282140. 4

Question Number : 86 Question Id : 536228550 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



A multinational firm is the one which ---------

. Source supplies from multiple countries
. Exports production to multiple countries

1
2
3. Control and operates production facilities in multiple countries
A

. Has consular access in multiple countries
Options :

5362282141. 1

5362282142. 2

5362282143. 3

5362282144. 4

Question Number : 86 Question Id : 536228550 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
Ut SgPIY BH g BIdl & ol -

1. 954 4 < T Tl A1 HA 3
2. IUIGH B dgd YR &2l & FH4id &l §

4. forg®! 9gd UR &1 & g1y d Ugd gldl &
Options :

5362282141. 1

5362282142. 2

5362282143. 3

5362282144. 4

Question Number : 87 Question Id : 536228551 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Grouping of countries commited to remove all barriers to the free flow of goods and
services between themselves and also pursue independent external trade policies is
called

1. Free trade area
2. Custom union

3. Common market
4

. Economic union

Options :

5362282145. 1
5362282146. 2
5362282147.3

5362282148. 4

Question Number : 87 Question Id : 536228551 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

agefl 3R Yard &1 U o= U GO ¥ & aid o Wale | S T THw vl @l ¢
Y Y1 a7 [6¥ R it &1 SRfeH B & o Uideg 2l & T9E @I a1 del
W &2

1, o IR &7
2. YT ed T
3. T SR

4, AP Uy
Options :
5362282145. 1
5362282146. 2
5362282147. 3

5362282148. 4

Question Number : 88 Question Id : 536228552 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Intellectual Property Rights (IPRs) protect the use of information and ideas that are of

1. Social value
2. Moral value
3. Commercial value
4. Ethical value

Options :

5362282149. 1
5362282150. 2
5362282151. 3

5362282152. 4

Question Number : 88 Question Id : 536228552 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
sifes YmEl ARBR 39 G971 IR FERT &1 W & & foFe - S 8|

1. YrATTSTS Hed
2. fd® g

3. aIUI® Jod
4, FifdR® 4

Options :

5362282149. 1
5362282150. 2
5362282151. 3

5362282152. 4

Question Number : 89 Question Id : 536228553 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Uppasala model for internationalisation of business operations is not valid for -------

1. Manufacturing organisations
2. Services organisations

3. Agribusiness enterprises

4. Trading enterprises

Options :

5362282153. 1
5362282154. 2
5362282155. 3
5362282156. 4

Question Number : 89 Question Id : 536228553 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

G YA & fRIFES & oy W Algd - & [y 41 151 5

1. fafamfor gt
2. a1 TaHt

3. Bt oga JE!
4, STIR JE(

Options :

5362282153. 1
5362282154. 2
5362282155. 3
5362282156. 4

Question Number : 90 Question Id : 536228554 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Who coined the metaphor "Invisible hand” in the Theory of Moral Sentiments?

. Milton Friedman
. David Ricardo

. Michael Porter

. Adam Smith

B

Options :

5362282157. 1
5362282158. 2
5362282159. 3

5362282160. 4

Question Number : 90 Question Id : 536228554 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
<fd® JvEl 1 g J 3e%d 81U &1 ©Ud g g1

1. e wizsEA

2. ofas frarst
3. AI3dhd Ul
4. =0 Yy

Options :

5362282157. 1
5362282158. 2
5362282159. 3

5362282160. 4

Question Number : 91 Question Id : 536228555 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The defenders of the sustainability approach toward Corporate Social Responsibility
(CSR) point out that -------

A. All economic activity exists within a biosphere that support all life

B. The success of business must be judged only against profitability

C. People have a strong ethical duty to cause no harm and only a prime facie duty to
prevent harm

D. Business sole responsiblity is to fulfil the economic functions they were designed to
serve

E. Customer service is most important

Choose the most appropriate answer from the options given below:

1. A and B only
2. B,C.D only

3. Aand C only
4. A only

Options :

5362282161. 1
5362282162. 2
5362282163. 3

5362282164. 4

Question Number : 91 Question Id : 536228555 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



HRUNE THTTS GIiiE (© T 3R) & Uid GURog S0 & UeeR &l 9 & (& -

A Tt T8 59 Hed & Wide e G UBR & Sigd @1 36T gidl &, Tt snfdfe fraraam
GEN

B. il IR ®I Yhad! @1 (U0 had Ay & AR W 5t fdhar 91 gyl

C. T ol GeIad ifoiTd Biod § b dg [l UdR @t &fd SR el dY 3R &ifd &1
PR $ad YYH eF0l Hudd o

D. SR & UhHM Glidd 39 Mitd G ®f QU &A1 & forg w1 38! sfidcd
ERIRIRIt

E. I8 Yal ATk 2|
Hd feu e fas el & 4 Faifie Juged sw gl

1. Had A 3R B
2. %A B, C, D
3. HadAARC
4. PHad A

Options :

5362282161. 1
5362282162. 2
5362282163. 3
5362282164. 4

Question Number : 92 Question Id : 536228556 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Objective of energy management and audit invariably includes which of the following in
a business enterprises?

A. Minimising cost of energy consumption

B. Minimising waste in energy consumption

C. Scaling harmful impacts of pollution on health of the natives

D. Minimising environmental degradation

Choose the most appropriate answer from the options given below:

1. AB and C only
2.B,Cand D only
3. ABand D only
4. AB,C and D only

Options :

5362282165. 1
5362282166. 2
5362282167. 3

5362282168. 4

Question Number : 92 Question Id : 536228556 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fodi caagr o Iuf Ueed SR o gdien & I5xal 1 SffHard ¥u 4 Fgfafad § 9 o
I Bid 87

A 391 WUd AAT DI AT Bl

B 3ol @Ud H URIed DI AqH Bl

C. ANR®] & WA R gl &I §gdl TH1d
D. UHIGRYI &RYT Bl AdH Bl

19 feu U fasp et & 9 waift Suga I g

1. Hhad A, B3R C
2.%ad B, C AR D
3.%ad A B3R D
4. had A B, C R D

Options:

5362282165. 1



5362282166. 2
5362282167. 3

5362282168. 4

Question Number : 93 Question Id : 536228557 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following aptly aims to alleviate financial stress of the borrowers at bottom
of the pyramid by reducing their cost of credit in new of covid - 19 pandemic?

A. A generic loan moratorium to the borrowers

B.  Two percent interest subvention on Sishu loans under the Pradhan Mantri Mudra
Yojana

C.  Provisioning Rs.1,500 Crore for Animal Husbandry Infrastructure Fund (AHIDF) to
help investment in diaring, meat processing and animal feed plants.

D. Financiall incentives to Farmer Producer Organisations (FPOs) and Micro, Small and
Medium Enterprises (MSMEs)

Choose the most appropriate answer from the options given below:

1. A, B and C only
2.A B and D only
3. B and C only

4. D only

Options :

5362282169. 1
5362282170. 2
5362282171.3

5362282172. 4

Question Number : 93 Question Id : 536228557 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



DIGE-19 TEMR] & He1oR SURT AFTd & B! $3- & §RI agad Foa| @ g g
Ugd 1 WA Fgiiiad 3 ¥ e My 9 $Redgd® (a1 74 87

A, RIS fHU SR R0 @
B. WHFHA HE1 UIoHI & ded RIS AU IR ST &3 H & Wi i eih 1 Tl

C. SO{, TG UEwhI AR Y IR A a1 & 95191 6 o o e SawReH &y @
Ud 3T 31 Uh) 5 1500 HUS $UY B YEH

D. YD IUGH T3 AR Y&H, Y R AEH IHT ®i fawiid wicme
FofeRad famedl § 3 Taiitd 3ugdd 3w 4|

1.PadA B AR C
2.Bdd A BARD
3, BaAae AR C
4, Hdd B
Options :
53622821609. 1
5362282170. 2
5362282171.3

5362282172. 4

Question Number : 94 Question Id : 536228558 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Organizational socialization is one very important aspect of orientation, the introduction
of new employee to the enterprise. Which of the following is/are not designed for the
socialization of new managers?

A, Acquisition of work skills and ability

B. Adoption of appropriate role behaviour

C. Adjustment to the norm and values of the work group

D. Filling a vacant position

Choose the most appropriate answer from the options given below:

1. Aand B only
2. B and C only
3. Cand D only
4. D only



Options :

5362282173. 1
5362282174. 2
5362282175. 3
5362282176. 4

Question Number : 94 Question Id : 536228558 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

I WHEIEI UREEH : 399 5 70 $HaRI & GRag & 3id Aewyyl Tegei 5§ 9
T | 0 USyw! b TSI o o Fafcied § 8 S /8 da Sfuféd T8 8/

A O DI AR HRFRFY 3ol

B. TG YHdl deR ®I Wighd [hdl Sl
. M U & YiddH AR Jed ST 9HEeE
D. Rad Ugl ol 41 STl

414 feu ¢ faedl | § Haifie Sugd S 9T

1. ®ad A AN B
2. %ad B AR C
3. %ad C AR D
4.%dd D

[

Options :

5362282173. 1
5362282174. 2
5362282175. 3

5362282176. 4

Question Number : 95 Question Id : 536228559 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following are true of the Goods and Services Tax (GST) introduced in India
in recent times?

A. It is a destination tax

B. It benefits producing states more

C. It benefits consuming states more

D. It is a progressive taxation

E. It is an umbrella tax to improve ease of doing business

Choose the most appropriate answer from the options given below:
1. B,D and E only
2. ACand D only
3. AD and E only
4. A,C and E only
Options :
5362282177.1
5362282178. 2
5362282179. 3

5362282180. 4

Question Number : 95 Question Id : 536228559 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

YRd ¥ B1d H yafdd 9% Ud 9a1 & (o t0 <) & ar o (FAufafad O 9« 98 87
A. UEUDH Tdd B g

B. UH IIGd Iodl Bl SHIG] A1 Bidl &

C. TUH JUHFT B dlel Il Bl TUIel A Bidl g |
D. 48 Ud Wi sy g

E. I8 SRR THd S o [oU Uh ijed oL gl
fafafad faweal 5 ¥ gaiite 3uged 3w 9|

1. %dd B, D ARE
2. %dd A C 3R D
3. %hdd A D 3R E
4. HAd A, C IRE

Options :



5362282177. 1
5362282178. 2
5362282179. 3

5362282180. 4

Question Number : 96 Question Id : 536228560 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following truly describe govt. intervention in the MSME space in view of
Covid-19 pandemic?

A, Provisioning of collateral free automatic loans worth Rs. 3 lakh crores

B. Provision of 100% credit guarantee coverage to banks and NBFCs on principal and
interest for loans to NBFCs

C. Redefined MSMEs to include both investment and turnover criteria

D. Created a war chest of Rs.3,00,000 crores for the MSME loans and employment
protection

E. Allocated Rs.2,00,000 crores for MSME loan moratorium and waiver

Choose the correct answer from the options given below:

1.ABandC
2.BCand D
3.CDandE
4 ACand D

Options :
5362282181. 1
5362282182.

5362282183.

A W N

5362282184.

Question Number : 96 Question Id : 536228560 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



PIfFS-10 AEHR! & HeToR TH TH UH § &7 & WoR! gway Fefiied 3 3 foue am
eI &7 ¥ efdid glar &7

A dF AR U dd & Uidyfd Gexd d: FU I UIaHH=

B. Q1Y 3R UH §f U 9l & Bl fey 7T R0 W S W dal ofR U & Un 9 9 & e
100% JYRT TRE Baval & HiauH

C. THORMIT U T8 wH $ & § 199 3R o PRIER Sl HIUCE] & i & B
D. THUGTUAS S, FOI 3R ISR &0 & oW 3,00,000 TRIS S0 & UG HIY P
oi

E. THUYUHS 0 ®TH IR Fe & AU 3,00,000 TS $UY BT H@c

Fofeied fadedl § U Gaifie Iuged S 9|

1.BaA A B3R C
2. %ad B, C3ARD
3. HaAC D IRE
4. ®BaA A, C IR D

Options :

5362282181. 1
5362282182. 2
5362282183. 3

5362282184. 4

Question Number : 97 Question Id : 536228561 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The consumer's price sensitivity is/are influenced by

Who bears the cost

What percentage of total expenditure does the product represent

Who bears the cost and type of retailer from where customer purchases
Consumption of product by the customer

mon®pe

Knowledge about the product
Choose the most appropriate answer from the options given below:

1. AB.E only
2.B and D only
3. AB.D only
4. AB,D,E only

Options :

5362282185. 1
5362282186. 2
5362282187. 3

5362282188. 4

Question Number : 97 Question Id : 536228561 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

JUHTadl DI Hed Ydegiieral fHafaiad 5 ¥ e/ fee yuiad gidl 82

A B TR d8 BT 5

B. 3dIC $d o4y &l foveH1 Ufaied &

C. @M ANTd de- &dl & AR SUHTEdT o Waxl faddT 4 @Gl & a8 [ oK @ &

D. SUHIG §RI I BT JUHIT
E. 3dG & ar & JHaRI
FHofeied fasedl § § Taiiie 3ugdd S |

1.BadA B, E
2. ®%ad e AR D
3. HAAA, B AR D
4. ®adA, B, D, E



Options :

5362282185. 1
5362282186. 2
5362282187. 3
5362282188. 4

Question Number : 98 Question Id : 536228562 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of these are readily accepted distinguishing characteristics of the services that
create unique strategic challenges?

A, Inflexibility

B. Perishibility

C. Inseparability

D. Intangibility

E. Inscrutability

Choose the most appropriate answer from the options given below:

. B,C,D only
. AB,CD only
. C,D.E only
.B and D only

L

Options :

5362282189. 1
5362282190. 2
5362282191. 3
5362282192. 4

Question Number : 98 Question Id : 536228562 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



PR & & a1 & Ja @ wipd Rk sifteree o @ 2 e ke el
R g i 27

A, HAHRIAT

B. SIHI

C. STqHadl

D. 3fHdl

E. fElyTRIdl

4 feu T faseal H © waifi® Suged I gl

1.%aa B, C AR D
2. ®ad A B, CHRD
3.%aq C, D, E

4. a8 AR D

Options :

5362282189. 1
5362282190. 2
5362282191. 3

5362282192. 4

Question Number : 99 Question Id : 536228563 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Suppose a customer who purchases only two goods is making a utility - maximizing
choice and then the price of one of the goods decreases. What will happen?

A.  The consumer's purchasing power will increase
B. The consumer's total utility will increase
C. The consumer's money income will increase

Choose the most appropriate answer from the options given below:

1. Aand C only
2. A and B only
3. B and C only
4. AB and C only

Options :



5362282193. 1
5362282194. 2
5362282195. 3

5362282196. 4

Question Number : 99 Question Id : 536228563 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T TG B3 ATed Sl hacl & a8 Tadl & 95 St SUTINT Bl f[aded U1 T
g 3R qd fordl U 9] @] B19d U2 W1l & o ULt g2 o a1 gim?

A SUHIG @ %4 Wfdd 9g Se|

B. JuHidd & 9oy SWifiar 4 gf ekl

C. JUNIGaT & - BT 3 H gfg B

g feu T fasedl o § walfte Suged 3w gHu

1. HAAA AR C
2. Bad AR B
3. HAA B 3R C
4. BaAA B AR C

Options :

5362282193. 1
5362282194. 2
5362282195. 3
5362282196. 4

Question Number : 100 Question Id : 536228564 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following could be problems with consumer interviews?

A. A non-random sample
B. The identification problem
C. Response bias

Choose the most appropriate answer from the options given below:

1. A and B only
2. B and C only
3. A and C only
4. B only

Options:

5362282197. 1
5362282198. 2
5362282199. 3
5362282200. 4

Question Number : 100 Question Id : 536228564 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

SIS TreTad R H o 991 T 9dhdl o2
A Tdh A-Oef=se ufage

B. UgdH &l GHW]

C. WGk Y&
fFrafeiad fadedl § U aiide Sugdd S 41

1. %ad A 3R B
2. Had B AR C
3. hadd AR C
4, Hdd B

Options :

5362282197. 1
5362282198. 2
5362282199. 3

5362282200. 4



Question Number : 101 Question Id : 536228565 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Process Costing is appropriate for which of the following firms?
A. Logistic and Transportation firms

B. Pharmaceutical and healthcare firms

C. Tourism and hospitality firms

D. Oil refining firms

Choose the correct answer from the options given below:

.Aand C
.Band C
.ABandC
. D only

Ju L P —

Options :

5362282201. 1
5362282202. 2
5362282203. 3

5362282204. 4

Question Number : 101 Question Id : 536228565 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Frafefed 7 9 foom waf & fore ufsar arra FraRor Suged 82
A UHRGAG 3R uikagy BH

B. Sue 3R Wl oE @ BH

C. Uded R anfaw B

D. od Y BA

fFafaiad faecl # ¥ gaife Iugdd I -1

1. Bdd A 3B
2. Bdd B 3R C
3. AT A, B3R C
4. Hdd D
Options :
5362282201. 1
5362282202. 2
5362282203. 3

5362282204. 4

Question Number : 102 Question Id : 536228566 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In order to calculate capital adequacy ratio, the banks are required to take into
consideration, which of the following risks?

A. Credit risk

B. Market risk

C. Operational risk

Choose the most appropriate answer from the options given below:

.Aand C only
. A and B only
. B and C only
. AB and C only

1

Fs

4
Options :
5362282205. 1

5362282206. 2



5362282207. 3

5362282208. 4

Question Number : 102 Question Id : 536228566 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Uit Gaiterdl SUTd o URe e & foU sl &l Hifted o 4 i Sifedl 1 faar foa S
3UEd &7
A @ SIfEq

B. SR WifEH
C. WhHidED SifEd
i feu T fadedl © 4 Faifte Sugd IR gl

1. BaAA AR C
2. Had A B
3. HaAB AR C
4 HAAA BARC

Options:

5362282205. 1
5362282206. 2
5362282207.3

5362282208. 4

Question Number : 103 Question Id : 536228567 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Identify on which of the three mutually reinforcing pillars Basel-lll capital regulations are
based?

Minimum capital standards
Supervisory review of capital adequacy
Credit risk management

Market decipline

mon® P

Management control
Choose the most appropriate answer from the options given below:

1. A B and C only
2. A B and D only
3.C DandE only
4.A Cand D only

Options :

5362282209. 1
5362282210. 2
5362282211. 3
5362282212. 4

Question Number : 103 Question Id : 536228567 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fFrafafad o 9 foo i T Qe aH-SHT IR 99- 111 goiiTd fafFgee s gid &7
A, gAdH ol A

B. UGl YAl &1 THdau T’ UR THia

C. TRE-SifEy Uy

D. SR HIAEH
E. Uy g
-t feu U fadedl § O galfie Juged I gHU|

1.®BaqA, B3R C
2.Bad A B3R D
3. HaAC, D AR E
4.BadA A, C 3R D



Options :

5362282209. 1
5362282210. 2
5362282211. 3
5362282212. 4

Question Number : 104 Question Id : 536228568 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are sufficient to determine shutdown point of multi commodity
firm in the short - run?

A, Variable cost of operations

B. Marginal revenue received

C. Average variable cost of operations

D. Average marginal revenue received

Choose the most appropriate answer from the options given below:

1. A and B only

2.Cand D only

3. A B and C only

4.B, Cand D only
Options :
5362282213. 1
5362282214. 2
5362282215. 3

5362282216. 4

Question Number : 104 Question Id : 536228568 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fofefad o ¥ oH 9 dd sfedraly # ag 9% WiasH & ¢ g &l 40 & SfquRu o fog
i 82
A TETEH 31 URad ard

B. I JUid Yo

C. UdieH @I 1gd URad arTd

d. I 3% Juid g

4 feu 1y fasedl § ¥ waifie Suged S 9T

1. Had A 3R B
2. ®adC AR D
3.WAAA, B, iR C
4. Paq B, C AR D

Options :

5362282213. 1
5362282214. 2
5362282215. 3

5362282216. 4

Question Number : 105 Question Id : 536228569 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Survey instruments used to assess customer perception of service quality are called

A. CETSCALE
B. SERVQUAL
C. SERVPREF
D. DINESERV
E. RSQ5

Choose the most appropriate answer from the options given below:

1. A and B only
2. B and C only
3. A B, Cand D only
4.8, C, D and E only

Options :



5362282217. 1
5362282218. 2
5362282219. 3

5362282220. 4

Question Number : 105 Question Id : 536228569 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

U1 TUTE] & U8 Haa1Y &l i B dlcil Yd&(01 giakd 1 decldl o7

A, CETSCALE
B. SERVQUAL
C. SERVPREF
C. DINESERY
E. RSQ5

fFrafeiad fadel 5 ¥ Jaiitie Sugdd SR 9|

1. ®dd A 3B

2. had B IR C

3. BAU A, B C3RD

4, HddB, C DIARE
Options :
5362282217. 1
5362282218. 2
5362282219. 3

5362282220. 4

Question Number : 106 Question Id : 536228570 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Channel conflicts can be
A, Vertical

B. Horizontal

C. Diagonal

D. Circular

E. Triangular

Choose the most appropriate answer from the options given below:

. A and C only
. B and C only
. A and B only
. A B and C only

B

Options:

5362282221.1
5362282222.2
5362282223.3
5362282224. 4

Question Number : 106 Question Id : 536228570 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

oIy 2g1d (Jd dAluade) gl 9dhdl & :

A SRR

B. &fas

B. faeulf

C. dHhH

E. BianeEs

fFrafeiad fadedl § U aiide Sugdd S 41

1. ®had AR C
2. Had B AR C
3. dhaa A R B
4. Hdd A B AR C

Options :



5362282221. 1
5362282222. 2
5362282223. 3

5362282224. 4

Question Number : 107 Question Id : 536228571 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following retail analytic applications involve(s) the use of search techniques
to gain insights into customer's buying pattern?

Factor analysis
Regression analysis
Data mining

Data scrapping

moo e

Data cloning
Choose the most appropriate answer from the opticns given below:

1. Aand B only
2.B and C only
3.A Cand D only
4. Conly

Options:

5362282225. 1
5362282226. 2
5362282227.3
5362282228. 4

Question Number : 107 Question Id : 536228571 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Frafafed | § fow, fr Gex oaTuR SRevor Sy Sy & T5d! 3 0 Ugid &
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A Ued faRemur (thdex TIfoiis)
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D. el B

E. Sl

fafeiad fameut § ¥ walfie Juge S .

1.Had A R B
2. BaAB AR C
3. WAAA, C3HRD
4. ®ad C

==

i

Options :

5362282225. 1
5362282226. 2
5362282227.3

5362282228. 4

Question Number : 108 Question Id : 536228572 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following narratives describe Fisher (Irving) effect?

A. Nominal, interest rate is equal to a real interest rate plus an expected interest rate
B. Real interest rate is equal to nominal interest rate minus expected rate of inflation
C. Exchange rate differential between two currencies is explained by interest - inflation
rate differential

D. Exchange rate differential between two currencies is explained by comparative cost
advantage and purchasing power parity

Choose the most appropriate answer from the options given below:

1. A B and C only
2. Aand B only
3. Cand D only
4.B, Cand D only

Options :

5362282229. 1
5362282230. 2
5362282231. 3
5362282232. 4

Question Number : 108 Question Id : 536228572 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fafafad | 9 oI 91 By R (3fdm) yHid &1 90 didr g

A, Fichfdi o1 X ARIfde ST G R U o1 GX & I17 s sRTaR Bl 6

g qRETde STel &3 Yeialel o1l &2 H U Hishdo & &X 9eH & Widhel B aXer Bl
|

C. T gEel & & T e SR @1 JRe saTe-GEEn T oF Sk 9 Bl 8l
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g gl

Fafafad fdaedl H 4 gaiiie SugH I 7

1.Baq A, B AR C
2. A A R B
3.9aaC 3R D
4. 9a0B, CARD




Options :

5362282229. 1
5362282230. 2
5362282231. 3

5362282232. 4

Question Number : 109 Question Id : 536228573 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following include problems in forecasting?

. estimates becoming more reliable the further you forecast into the future
. specification error

. cyclical variation

. stationarity in data series

m o o W =

consistency in data series

Choose the most appropriate answer from the options given below:

1. Aand B only
2.B,Cand D only
3.B and C only
4. A and C only

Options :

5362282233. 1
5362282234. 2
5362282235. 3

5362282236. 4

Question Number : 109 Question Id : 536228573 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



UaHH & e J FEfiRad 5 9 oF 9 R A 87

A UTHeH & HUETPHT D faeeia i oI g1 H o1y Hidw &1 ok offfid yaiqaH
R g

B. fafgzH aafass
C. d%iguRkad
D. STel $a # fRRdl &l gHI

E. SIe el H G
T4 f&u 7T fadhedl # U Faiite Sugw S gHT:

1. ®ad A AR B
2.BadB, C AR D
3. HAAB AR C
4. BT A IR C

Options :

5362282233. 1
5362282234.2
5362282235. 3

5362282236. 4

Question Number : 110 Question Id : 536228574 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following is/are hold(s) true to successfully practice price
discrimination?

A. The firm must be a pure monopoly

B. The firm must possess market power

C. It must be difficult for consumers in one market to sell to consumers in the other
market

Choose the most appropriate answer from the options given below:

1. A and B only
2. B and C only
3. A and C only
4. Conly



Options :

5362282237. 1
5362282238. 2
5362282239. 3
5362282240. 4

Question Number : 110 Question Id : 536228574 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e faHEH @I U1 & YhadIgde AdeR § OH ® YeH H Hafdfed 5 3 oF 91/4 $u
BTG

A TRISHE &1 A g WhIIGR giH 9ifet
B. UM & U faria: aT9R Ui s IRl

C. JuHiddre & iU U aTeR ¥ GO aleR & SUHiadrell & gl aa- sffHardd: g&e
Gl

1. dd A 3R B
2. HadB AR C
3. Bad A R C
4, ®aad C
Options :
5362282237. 1
5362282238. 2
5362282239. 3

5362282240. 4

Question Number : 111 Question Id : 536228575 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



In a monopolistically competitive market, which of the following hold true?
A. firms are small relative to the total market

B. no firm has any market power

C. there is easy entry and exit in the market

D. few firms have market power

E. there is no easy entry and exit in the market

Choose the most appropriate answer from the options given below:

1.A CandE only
2. B and C only
3. A and B only
4. A and Conly

Options:

5362282241.1
5362282242.2
5362282243.3
5362282244. 4

Question Number : 111 Question Id : 536228575 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
Seer ufaeadl SR & dey o Fgifed 5 9 o1 9 o4 el 8-

A, THY ENR &1 ga- § UidgHE S gid 8

B. ot oft ufawm & IR =fda 72 gl B

C. ¥R H ga ufafP ok FriF gian gl

D. ©a® UdgH H & 9WR Uik gidi B

E. SR H gay ufafP R 79 T 8

i feu e fasedl 7 ¥ 1aifde 3ugded 3 9FT

1. ®ad A CIHRE
2. had B3R C
3. hhac A 3R B
4. had A AR C

Options :



5362282241. 1
5362282242. 2
5362282243. 3

5362282244. 4

Question Number : 112 Question Id : 536228576 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Span of management is determined by
() manager's training

(i) manager's personal qualities

(i)  subordinates training

(iv) trade union

1. (i), (iii) and (iv)
2. (i), (ii) and (iii)

3. (i), (iii) and (iv)
4. (1)

i), (i) and (iv)

Options :

5362282245, 1
5362282246. 2
5362282247.3
5362282248. 4

Question Number : 112 Question Id : 536228576 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



yat @ fowR e g1 FHuia f&a sar &
(i) WEYD BT Y&

(i) TEYUD o AfdTd 07

(ifi)  STEfTRIT T rEfor

(iv) HeIG ¥Y

il feu e 9ol # 9 w8l fadey g

Options :

5362282245, 1
5362282246. 2
5362282247.3

5362282248. 4

Question Number : 113 Question Id : 536228577 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The shut down refers to complete cessation or closing down of the business. It involves
which of the following?

i) No buying or selling
i)  No manufacturing

(
(
(iii) Shifting of business from one place to another place
(iv) Assets to be sold or disposed off.

(

v) Returning capital to owners

1. (0. (i), (iv), (V)
2. (i), (i), (iii), (iv)
3. (i), (i), Gii), (v)
4. (). (i), (). (v)

Options :
5362282249. 1

5362282250. 2



5362282251. 3
5362282252. 4

Question Number : 113 Question Id : 536228577 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e 61 @ 314 & o999 R X a3 9 3 01 Il e 9 €4 | 399 =Hd &:
() g HY AR faspg el

(i) I faf-HfT =TEl

(i) STIYE B U WM Y FGadR g M TR o oIHl

(v) ORgERE &1 fawt a1 FueH

(v) IR 1 Yol AToE T

[ 77
1
2.
3. (i
4.

Options :

5362282249. 1
5362282250. 2
5362282251. 3

5362282252. 4

Question Number : 114 Question Id : 536228578 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following are false?

A. Partners are not bound to carry on the business of the firm to the greatest common
advantage

B. Where a partner is entitled to interest on capital subscribed by him, such interest
shall be payable whether or not there are profits

C. An outgoing partner has a right to claim a share in the profits of the firm till his
account is finally settled

D. A partner may be expelled from the firm only with the consent of all other partners

Choose the correct answer from the options given below:

1. A B, D only
2.A C Donly
3.B, D, Conly
4. C, D only

Options :

5362282253. 1
5362282254. 2
5362282255. 3

5362282256. 4

Question Number : 114 Question Id : 536228578 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Faffad o @ oF 9 &Y= 7Tad o7
A TEIGR BF © a9 SUEHaH 9 Ty d® oR) 18- & [0l 919 o) o

B. Oigl GISIGR WU gRT AFEd Yol U &1 &1 SHGR 5, TSl o o BTl el Bl arH &l
3Udl ol 8|

C. ST YIEIER @l BH b JAIGT H TR &1 G1d1 B4 @ AR qd dd gidl ¢ 9 ad
f T @1 sidd: FaRoT 9 g1 o

D. ot i UrEleR @ thad 9+t o9 FieR| @1 Yegald ¥ g B U Fehiiad foar o
qodl gl

13 R o el § 3 T SR AT

1.®Bdd A, B, D
2.®dd A C D
3. ®AddB, C D
4. HAAC D
Options :
5362282253. 1
5362282254, 2
5362282255. 3

5362282256. 4

Question Number : 115 Question Id : 536228579 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are related to vouching of sales?
A. Dispatch of goods

B. Sales Book

C. Direct notes

D. Credit notes

Choose the correct answer from the options given below:

1. B and D only
2. A and D only
3.B and A only
4. B and C only

Options :



5362282257. 1
5362282258. 2
5362282259. 3

5362282260. 4

Question Number : 115 Question Id : 536228579 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FafifEd § € o1 f[dhy & agfi 4 defia 82
A TG T UHTT

B. fawu Ut

C. Ude ey

D. HIHACH

fifepd faded & € 98l 3w 9

.B3RD

A3RD

B3R A
B3R C

Fu LI P =

Options :

5362282257. 1
5362282258. 2
5362282259. 3

5362282260. 4

Question Number : 116 Question Id : 536228580 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match the items of List | with those of List Il and choose the correct code of
combination

List | List Il

a. Ad- hoc team formed to solve unusal problem ) Virtual organization

i). Task force

c. Status - free and hierarchy free organization iii). Free form organization

(
b. Suitable when there are large number of small projects|[ii
(
(

d. Digital or dot com organization iv). Matrix organization

~(iii) , b (i), c -(iv) , d -(i
-(i) , b -(ii) , ¢ -(iv) , d -{iii
~(ii) , b -(iv) , c -(iii) , d (i
~(iv) , b -(i), c -(ii) , d -{iii

)
)
)
)
Options :

5362282261. 1
5362282262. 2
5362282263. 3

5362282264. 4

Question Number : 116 Question Id : 536228580 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tt - 131t - 1 Qg I AR AR oy T feed 7 4 ) SR @ 9

Gl il

(a) SO THES] o7 9HIHH & AU 9o SO 1fdd 1 () Jaryrdl 9ied
(b) IUYE, o g U= H @Y URUSH & (i) @ ad

() BRmd ged IR UerHH god 9eH (50 e SRR
d) fEforea a1 Slemm WireH (iv) AfcH @ed
fdse

1. (@)-(iii), (b)-(1), (c)-(iv), (d)-(ii
2. (a)-(i), (b)-(ii), (c)-(iv), (d)-(iii
3. (@)-(ii), (b)-(iv), (c)-(ii), (d)-(i
4. (a)-(iv), (b)-(i), (c)-(ii), (d)-(iii

P e

Options :



5362282261. 1
5362282262. 2
5362282263. 3

5362282264. 4

Question Number : 117 Question Id : 536228581 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match the items of Units (1) with those of Units (ll) and choose the correct code of
combination:

List I List II
(a)
P(H;/E) = P 507 (i) Theorem of addition
(b) P(E2/Ey) = P {EIL[Q;?} (i) Theorem of multiplication
(c) P(Ey ) E2) = P(E,) x P(E) |(iii) Conditional probability
(d) P(E, |J E2) = P(E;) + P(E;)|(iv) Baye's theorem

La- (i), b-(v), c- (i), d - (i)
.a-(iv), b - (i), c - (i)}, d - ()
.a- (i), b - (i), c - (i), d - ()
.a-(iv), b - (i), c - (), d - (ii)

P L P

Options:

5362282265. 1
5362282266. 2
5362282267. 3

5362282268. 4

Question Number : 117 Question Id : 536228581 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



- 1 &1 Hel DI Gt - 1 D HGl & 1Y GHidd Bifo 3R 98t de ol gy :

el - 1 -1
(H N E)
® P(H/B)=P = () I
8) P(E;/E;) :P% (EILER LD
(Q P(E,NE:)=P(E\) x P(Ey) | S b
(D) P(E,|\JE;) = P(E;)+ P(E») (Iv) SgHHY

57Tk

1. A-l, B-IV, C-lI, D-1

2. A-1V, B-llI, C-lI, D-1

3. A-lll, B-Iv, C-lI, D-I

4. A-IV, B-lll, C-1, D-11
Options:
5362282265. 1
5362282266. 2
5362282267. 3

5362282268. 4

Question Number : 118 Question Id : 536228582 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match the items of List 1 with those of List Il and choose the correct code from the
following combination

List | List Il

a. Inability to pay interest i). Current Ratio

P g ii). Debtor Turnover
b. Liquidity crisis i
Ratio

2 ; , ii). Interest
c. Inefficient collection of receivable ,
coverage ratio

d. Return of shareholder's fund being much higher than the overalljiv). Debts - Equity

return on investment ratio

~(iii) , b -(i) , c -(i) , d -(iv
~(iii) , b -(ii),, c (i), d -(iv
~(ii) , b -(iii) , ¢ -{i) , d -(iv
-(i) , b -(ii) , ¢ -(iii) , d -(iv

)
)
)
)
Options :

53622822609. 1
5362282270. 2
5362282271.3

5362282272. 4

Question Number : 118 Question Id : 536228582 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



gt - 15 61 7T Hal &l Rt - 11 6 HEl i O1Y G B AR §e B Fgl faded &l 99

Gg

Gl el

(2) SOE YA &M () 93U

(b) W de ) F-BRIGR
A

(c) W @I &M YhaH (iii) ATl GREM ofUId

(%d) &mwaﬁwﬂmﬁﬁﬁéﬁmmﬁaﬁa@aﬁﬁm e

fc:

1. (@)-(iii), (b)-(i), (c)-(ii). (d)-(iv)

2. (a)-(iii), (b)-(ii), (c)-(i). (d)-(iv)

3. (a)-(ii). (b)-(iii), (c)-(i). (d)-(iv)

4. (a)-(i), (b)-(ii), (c)-(iii), (d)-(iv)

Options :

5362282269. 1
5362282270. 2
5362282271.3

5362282272. 4

Question Number : 119 Question Id : 536228583 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with List 11

List | List I

(Market Forms) (Distinctive featured)

A. Perfect competition i. Price rigidity

B. Monopoly ii. Product improvements

C. Monopolistic competition|ii. Homogeneous products

D. Oligopoly iv. Price discrimination

Choose the correct answer from the options given below:

1. A-ii,B-i,C-iv, D-iii
2.A-iv,B-iii, C-i,D-ii
3. A-iii, B-iv,C-ii,D-i
4. A-i, B-ii, C-iii, D -
Options:
5362282273. 1
5362282274.2
5362282275. 3

5362282276. 4

Question Number : 119 Question Id : 536228583 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T - 1 g - 1Y AR B

T - | T - 1

CIGIEEEaL fafare sifiraam

(@) o wicraef () DEd ARG g
(b) UDNIDBR (i) TG GUR

(c) UPNUeRaK aflamyl (i) TETIdE

(d) STEYTER (iv) SiFdfadg
fgifded famedl § 4 98l S g+

1. (a)-(i). (b)-(1), (c)-(v), (d)-(iii
2. (a)-(iv), (b)-(iii), (c)-(i), (d)-(ii
3. (a)-(m), {bl-[iv} (c)- (!FJ (d)- (i
4. (a)-( )-(i

[ P S S M S

Options :



5362282273. 1
5362282274. 2
5362282275. 3
5362282276. 4

Question Number : 120 Question Id : 536228584 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match the cost concepts in List | and their description in List 11

List | List 11
(Cost concepts) (Description)
A. Sunk cost I. Change in total cost for a unit change in output
B. Marginal cost Il. Value of inputs owned and used in production
C. Investment cost  |[lll. Costs that are unaffected by firm decision
D. Implicit cost IV. Total increase in costs resulting from a decision

Choose the correct answer from the options given below:

1. A-Il, B-l, C-IV, D-1NI
2 A=L-B-E C I D
3. A-IV, B- I CHII; D
4. A-l, B-Il, C-lIl, D-1V

Options :

5362282277.1
5362282278. 2
5362282279. 3
5362282280. 4

Question Number : 120 Question Id : 536228584 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Gt - 1 5 61 7T AR Shed1al B G - 11 H T 1T e 19awv1 & iy GHferd Bifer

3R T fGu U fodmedl & € el 9Tk & 994 Do ;

el Gl

ART] HH e IEEEl

(a) o ANTd ) JdIeA H gaTs URad- & fou &d arra | uRadA

(i
(b) L @ (i) JaTe H |G U 3R TG 35U 1 SHGH! &1 5o
© deTiaard (i) O e S B & i @ uHifee T g
d) SHedard  [iv) bl FHUfg & gRumERaEy Tl H o gl

qc:

. \a

)-(ii). (b)-(i), (c)-(iv). (d)-(ii
)-(0), (b)-(iii), (c)-(iv), (d)-(i
a)-(iv), (b)-(ii), (c)-(ii), (d)-(i
)-(0), (b)-(ii), (c)-(iii), (d)-(iv

1.0 )
2. (a )
3. ( )
4. (a )
Options:

5362282277. 1
5362282278. 2
5362282279. 3

5362282280. 4

Question Number : 121 Question Id : 536228585 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match the items in List | with economists propounded the same from List Il

List I List Il
(Theoretical Foundations of <
(Economists)

Global Trade)
A. Absolute cost advantage I. Michael Porter
B. Factor endowment theory Il. David Ricardo
C. National competitive advantage  |lll. Hecksher and Ohlin
D. Comparative cost advantage IV. Adam smith

Identify correct match from the following:

1. A-1V, B- I, C-I, D-II
2. A-lll, B-1I, C-1, D-1V
3. A-1, B-1V, C-llI, D-I
4. A-1ll, B-1V, C-1I, D-I
Options:
5362282281. 1
5362282282. 2
5362282283. 3

5362282284. 4

Question Number : 121 Question Id : 536228585 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Tt - 1 9 U 70 % oanuR & S SRl & gat - 1 H G T S gl &

yfauTed SrfRRediy qHferd Sifon :

el Gl

afie TR F ST YR arefErett

(a) TRU& T A () AS®HT el
(b) JdGd gHgl g i) sfas Rarsi
(c) W@Qﬂﬁmﬁﬁﬁﬂ (iii) %ﬁ?@ﬂhﬁ:{
(d) HIHED T T (iv) USH Y
el 09 @ MYaRed o ¥ UgaH difee -

1. (@)-(iv), (b)-(ii), (c)-(i). (d)-(ii)

2. (a)-(iii), (b)-(ii), (c)-(1), (d)-(iv)

3. (a)-(i), (b)-(iv), (c)-(iii), (d)-(ii)

4. (a)-(iii), (b)-(iv), (c)-(ii), (d)-(i)

Options :

5362282281. 1
5362282282. 2
5362282283. 3

5362282284. 4

Question Number : 122 Question Id : 536228586 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match the items of List | with the items of List Il and choose the correct code of
combination:

List I List I
A. Indian Contract Act l. 2002
B. Right to Information Act  |Il. 1872

C. Information Technology Act|lll. 2005
D. Competition Act IV. 2000

1. A-l, B-ll, C-lll, D-IV
2. A-ll, B-1V, C-I, D-1lI
3. A-lll, B-Iv, C-lI, D-1
4. A-ll, B-lII, C-1V, D-1



Options :

5362282285. 1
5362282286. 2
5362282287. 3

5362282288. 4

Question Number : 122 Question Id : 536228586 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Xt - | B HGl DI Gt - 1 B HGl b WY G Do 3R 1 5T T fdedl # 9 98t
fdP e &1 9T Dife :

el el
(@) HRd Hider sfafgs () 2002
(b) G BT PR HfgfgH (i) 1872
() AT Uil sififay (i) 2005
(d) wfaems ety (iv) 2000
GG
1. (@)-(1), (b)-(ii), (c)-(iii), (d)-(iv)
2. (a)-(ii), (b)-(iv), (c)-(), (d)-(iii)
3. (@)-(iii), (b)-(iv), (c)-(ii), (d)-(i)
4. (a)-(ii), (b)-(ii1), {c)-(iv), (d)-(i)
Options :

5362282285. 1
5362282286. 2
5362282287. 3

5362282288. 4

Question Number : 123 Question Id : 536228587 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match the item of List | with the items of List Il and suggest the correct code:

List | List Il
A. Relationship

. Dealing in hundis and acceptance of deposits
Banking 4 p Y

: Il. Widening the entrepreurial base and assist in a rapid rate of
B. Merchant Banking [ )
industrial growth

C. Indigenous Banking |[lll. Engaged in the business of capital issue management
D. Development IV. Creating, maintaining and enhancing strong relationship
Banking with customers
1. A-IV, B-1l, C-1, D-lII
2. A-ll, B-lll, C-1, D-IV
3. A-IV, B-lI, C-, D-lI
4. A-1l, B-l, C-IV, D-lll
Options :

5362282289. 1
5362282290. 2
5362282291. 3
5362282292. 4

Question Number : 123 Question Id : 536228587 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



S - | 7 &1 7T Hal @ Gt - 11 1 HGl & G GHIT DI 3R Fal de B 999 DIl ;

g -1 g
@) R et a3 o oot i
sen () gfedl @1 dH-gH ok oI Bl

(b) T (i) I Qe AR DI D BT SR D ol
St @1 did &% & YeTd gl

(€ WAl | . . . .

Ve (i) gl 10 UeitE & ouaar | 9ay g

(d) Ta®PN (v) Ted! & T Heigd R=d §HT A1 §HI T
dfd YT 31 3R g8 §1H]

dc:

a)-(iv), (b)-(ii), (c)-(1), (d)-{iii)
i), (b)-(iii), (c)-(1), (d)-(iv)
iv), (b)-(iif), (c)-(), (d)-(ii)
i), (b)-(i). (c)-(iv), (d)-(iii)

d
d

1. (a)-(
2. (a)-(
3. (a)-(
4. (a)-(
Options :

5362282289. 1
5362282290. 2
5362282291. 3

5362282292. 4

Question Number : 124 Question Id : 536228588 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match the items of List | with those of List Il and choose the correct code of

combination:
List | List Il
A. 80 GGC —— :
. Deduction in respect of rent paid
T Il. Deduction in respect of contribution given by company to political
' parties
1. Deduction in respect of contribution given by any person to
C. 80 GGA i :
political parties
D. 80 GGB IV. Deduction in respect of certain donations for scientific research

1. A-lI, B+, G-I, DIV
2. A-lIL, B-L, C-IV, DA
3. A-ll, B+, G-IV, DI
4, A-l, B-lI, C-lIT, D-IV

Options :

5362282293. 1
5362282294. 2
5362282295. 3

5362282296. 4

Question Number : 124 Question Id : 536228588 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Xt - 1 5 ST Gl Bl Gt - 11 P HGT & §1Y G BT AR GEl B Bl 954 Difal :

-1 (g

g;ﬁgﬁﬁ () TBIC Y P & G5y H Beldl

(b) 80l i) T GRIASHIG® Gal @ [GU Y SEH & 48y
Eil T Gl

() 80 f (i) ol cafed GRT oM aal &l fGU U SiRGH &
U gy 4 derl

il e F e
I (v) e Y & U sfoga e & gey

dc:

Options :

5362282293. 1
5362282294. 2
5362282295. 3

536228229%6. 4

Question Number : 125 Question Id : 536228589 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with List Il

List | List 1l

(International product lifecycle . Ly
(International competition)

stage)

l. Companies from other high-income countries

A. Introduction | ] ,
increase exports to the innovating country

Il. Competitors from other high-income countries

B. Growth ; s ; .
may begin production in developing countries
C. Maturity lll. A few competitors at home
, IV. Competitors in other high-income countries
D. Decline

begin production for their domestic markets

Choose the correct answer from the options given below:

1LA-UILB-IV,C-1,D-1l
2ZA-ULB-1LC-IV,D-Il
LA-ILB-IV.C-LD-1I
4 A-IV,B-I,LC-1,D-M
Options :
5362282297. 1
5362282298. 2
5362282299. 3

5362282300. 4

Question Number : 125 Question Id : 536228589 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



EICEEED

I %&%—mmﬁmﬁﬁwﬁ@
b T (i) 3 3= 3 <=1 4 ufaegslf ferasia cal 9
() JAUGH RY B Ihd &

() URUHAT (i) O < H P Uiaegef

(iv) 3T Id-A =N | Hiaegell o0 TR IR &
feTT IaTEH SRH B &

friferd Aot 8 T I8 ST T -

a)-(iii), (b)-(iv), (©)-(), (d)-(ii
a)-(ii1), (b)-(i), (c)-(iv), (d)-(ii
i), (b)-(iv), (c)-(i). (d)-(iii
iv), (b)-(ii), (©)-(i), (d)-(iii

(a)-(
(a)-(
(a)-(
(a)-(

L

1.
2
3.
4 (a
Options :

5362282297. 1
5362282298. 2
5362282299. 3

5362282300. 4

Question Number : 126 Question Id : 536228590 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



What is the correct sequence of distribution of amount realised under section 154 of
CGST rules?

a. Appropriated against the administrative cost of the recovery process.

b. Appropriated against any other amount due from defaulter under the Act or IGST
Act, 2017.

c. Appropriated against the amount due to be recovered from defaulter.

d. Balance amount, if any shall be refunded to the defaulter

1.ABD,C
2ACBD
3CABD
4,C B AD

Options :

5362282301. 1
5362282302. 2
5362282303. 3

5362282304. 4

Question Number : 126 Question Id : 536228590 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



11 %] Ud Yal O [HUH1ac & URT 154 & SHvid gdhdbdl &I YR B fdsh! T U
R o a0 BT Fel H 1 87

(A) Ol Hishal & HRIHS arld & uid faFaifea

(B) 39 g a1 33 St vy <& SifAfgH, 2017 & Siid qhddl @I AR g@r Gl
I R & Geg Bt

(C) Ihobdl 4 age o arell A & oG gl
(D) XYM, T BI5 Bl Jhobdl Bl AIUY DX ol wIE|

Options :

5362282301. 1
5362282302. 2
5362282303. 3

5362282304. 4

Question Number : 127 Question Id : 536228591 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange the following in correct sequence:

A. Income under the different heads of Income.

B. Deduction from gross total income.

C. Adjustment of losses of the current year and earlier years.

D. Rounding off.

Choose the correct answer from the options given below

ACBD
.ABCD
.ABDC
.ADBC

P L P —

Options :

5362282305. 1
5362282306. 2
5362282307. 3

5362282308. 4

Question Number : 127 Question Id : 536228591 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Fafeiad @1 Ugl vH H oaaieyd i
(A) 3 & ot =2l & s=7id 3

(8) Wb Pl 3T Y T

(€) 13y AR fUsct I8l & °1e ST Yo
(D) YOI

- f&u T fadedt & @ 98 SR g



Options :

5362282305. 1
5362282306. 2
5362282307. 3
5362282308. 4

Question Number : 128 Question Id : 536228592 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following industry verticals received boost amid covid-19 pandemic
lockdowns?

A. Online education, gaming and entertainment

B. E-Commerce and E-Payment infrastructure

C. Retailing and pharmaceuticals

D. Hospitality and healthcare services

E. Manufacturing and MSMEs

Choose the most appropriate answer from the options given below:

1. A B and D only
2. A CandE only
3. A B and C only
4. C, D and E only

Options :

5362282309. 1
5362282310. 2
5362282311. 3

5362282312. 4

Question Number : 128 Question Id : 536228592 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



BIdS-19 AEHRI Wbl & GRM HERgd H ¥ 6 IgN 99g! H Iara S
(A) HicTs e, AT $fR FIReH

(8) S-TIORST SR 3-YTAH TR

(C) Y&l TR 3R 38y I

(D) SIEOAId 3R W GE-d gy

E) faFEUsiRETETHEES

-d feu e faaedl & ¥ 98l SR 4T
1. ®ad (A), (B) 3R (D)
2. aﬁ?r (A), (C) 3R (B)
3. BT (4), (B) AR ()
4.4 (C), (D) 3R (E)
Options :

53622823009. 1
5362282310. 2
5362282311. 3
5362282312. 4

Question Number : 129 Question Id : 536228593 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange the following management functions in a logical sequence of getting things
done.

A. Planning

B. Staffing

C. Organizing

D. Coordinating

E. Controlling

F. Directing

Choose the correct answer from the options given below:

A B C D FandE
A CBFEDandE
ACEB B .FandE
A C.B,.D . Eand F

Ju L P

Options :

5362282313. 1
5362282314. 2
5362282315. 3

5362282316. 4

Question Number : 129 Question Id : 536228593 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Fafifad Tsye Sl o 3¢ FreT & diihd $H H AdRyd Sifvu:
(A) TS FEi

(B) HHIRI FHar=H

(C) T

(D) HH-dYA

Options :

5362282313. 1
5362282314. 2
5362282315. 3

5362282316. 4

Question Number : 130 Question Id : 536228594 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Sequence the following CSR eligibility criteria and spending as per the provisions of the
Indian Companies Act 2013.
A. Positive networth of Rs.500 crores or more

B. Two percent of average profit spend on CSR

C. Net profit of Rs.5 crore or more in given financial year
D. Turnover of Rs.1,000 crore or more

E. Penal action for non compliance

Choose the correct answer from the options given below:

1.EBDCand A
2.BEACandD
3.ADCBandE
4 CBADandE

Options :

5362282317. 1
5362282318. 2
5362282319.3
5362282320. 4

Question Number : 130 Question Id : 536228594 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



YR St HfFEE, 2013 & Iuadl & HER FEfRad dRURE GHTed gidd &
edl AFGS R Y Bl HHEG DI ;

(A) 500 PG FUU ST I8H HUH ¢HED Had A
(B) PRUNE FHIN® Gt W fht 10 & 319d Y @1 & Uiaed
() Fodmad o 5 #s $Uu sal Sud fUE & Had ard

(D) 1000 TS TUY YT ITY AP P PRIIR

(E) UIcH ol [t oI TR ¢ SIeid PRy
-d e U fawedl § § 98l S gL :

Options :

5362282317. 1
5362282318. 2
5362282319. 3

5362282320. 4

Question Number : 131 Question Id : 536228595 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Sequence the steps in CRM process?
A. Developing CRM programes

B. Collection of customer data

C. Analyzing customer data

D. ldentify the target customers

E. Implementing programs

Choose the correct answer from the options given below:

Yo BB O D
2.8, C D.AE
3.8, CAED
4.C D, EAB

Options :

5362282321. 1
5362282322.2
5362282323. 3

5362282324. 4

Question Number : 131 Question Id : 536228595 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



O HR TY Uidh a1 & o0l &I HHAR Yoaaedd $ :
(A) 3R vH SRIGH! @ AR S

(8) UTEH bl BT TURTI

() e gl Bl faverawr

(D) TI&T AED! Pl Ug=H

Options :

5362282321. 1
5362282322.2
5362282323.3

5362282324. 4

Question Number : 132 Question Id : 536228596 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Sequence the following activities in the process of standard costing.
A. Establishing standard costs

B. Measurement of actual costs

C. ldentifying variances and causes of variance

D. Disposing the variances to cost and profit centers

E. Comparision of actual and standard costs

Choose the correct answer from the options given below:

1.AB,ECand D
2.A B CDandE
3.AABEDandC
4. A B D CandE

Options :

5362282325. 1
5362282326. 2
5362282327.3

5362282328. 4

Question Number : 132 Question Id : 536228596 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



s arTd Fyier uidgar 1 Fgifed nfafafeal &1 $9 I soafeyd &1 ;

(&) TS AT [fEd S

(B) dRdidd ANTd B HTHe

(C) TN 3R 3R I9d HRUM &1 Udl T

(D) R 3l &1 ArH 9 ARTd sl H dic]

() drkid® AR AHD AR &1 ol

frafeRad fadel § U Ul SR A :
1. (A), (B), (B), (C) 3R (D)
2. (A), (B), (C), (D} G?R' (E)
3. (A), (B), (), (D) 3R (C)
4. (A), (B), (D), (O) 3R (B)
Options :

5362282325. 1
5362282326. 2
5362282327. 3

5362282328. 4

Question Number : 133 Question Id : 536228597 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Sequence the following activities in the process of accounting
A. Journalising the transaction in the ledger accounts

B. Recording the business transaction in the books of entry
C. Preparation of Annual Financial statements

D. Preparation of the Trial Balance

E. Deriving meaningful inferences for business decisions
Choose the correct answer from the options given below:

1.A,B,C,Dand E
2.A B D Eand C
3.0,C,EBand A
4B, A D CandE

Options :

5362282329. 1
5362282330. 2
5362282331. 3
5362282332. 4

Question Number : 133 Question Id : 536228597 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



g @I Uisha &1 FafeRad iafafeal of o § gogared &1 :
(A) TE-Ed H oH-c1 @1 Ul

(8) WA 98! H ATUIRD H-a B RSTS Bl

(O difte faeiiyg faaRor daR &

(D) TY-TRI& DI FUR BT

(£) omuRe fufal & foe ardes ey Fare

Options :

5362282329. 1
5362282330. 2
5362282331.3
5362282332. 4

Question Number : 134 Question Id : 536228598 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Sequence the following in the capital budgeting process
A. Cash flow estimation

B. Identify discounting rate
C. Project selection decision

D. Determination of NPV

Choose the correct answer from the options given below:

A, B, Cand D
A, B, DandC
.D,A Band C
.B,A, DandC

B

Options :

5362282333. 1
5362282334.2
5362282335. 3

5362282336. 4

Question Number : 134 Question Id : 536228598 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
USiNTd Soic (A0 Uichdl i g Do :

(A) PG UdIg Uiddh e

(B) HREATEEI &R

() U & 9a gath o

D) Fad adqH geg (@A 4t dl) &1 sauro
i< f&T T famenl H © ¥El TR 9T



Options :

5362282333. 1
5362282334. 2
5362282335. 3

5362282336. 4

Question Number : 135 Question Id : 536228599 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
Which two of the following are correct about TDS certificates?
(a) TDS on salary payment - Form 16
(b) TDS on non-salary payment - Form 16A
{c) TDS on rent - Form 16B
(d) TDS on sale of property - Form 16C

Choose the correct option:

Options :

5362282337. 1
5362282338. 2
5362282339. 3

5362282340. 4

Question Number : 135 Question Id : 536228599 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



AW s IR H HEfed A ¥ o al 9ol a7
(A) 99 YTaH R IS0 - B 16

(8) TR-IdH YIaH R ASTT - B 16 T
) U RESTE - oH 16

(D) WU B faehl R STy - B 16
Uel fadey 7 -

Options :

5362282337. 1
5362282338. 2
5362282339. 3
5362282340. 4

Question Number : 136 Question Id : 536228600 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Statement I: Contracts whose objects or consideration are unlawful are void.
Statement II: Contracts in restraint of legal proceedings are void.
Code :

1. Both Statements are correct

2. Both Statements are incorrect

3. Statement | is correct but Il is incorrect
4. Statement | is incorrect but Il is correct

Options :
5362282341. 1
5362282342.2

5362282343. 3



5362282344. 4

Question Number : 136 Question Id : 536228600 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
YT (1) : 5 ga= & 3520 1 Ufamhd Hde Bid & d e+ YU aldl ol
YT (I1): S drddrel & Ry T &1 13 dfaen = gidi gl

o

1.®YF (1) 3R () g g8l &

2. YA (1) 3R BUF (1) TH Tad &

3. YA (1) Yol & AR YA (1) TTeid ©
4. U (1) IO & R Y (1) TS &

Options :

5362282341. 1
5362282342. 2
5362282343. 3

5362282344. 4

Question Number : 137 Question Id : 536228601 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Assertion A: Workers participation in management is involvement of workers only in
such areas of activities of the enterprises where they can make some positive
contribution.

Reasoning R: Workers may not be competent enough to understand and appreciate
the managerial aspects of the enterprise.

Code :

1. Both A and R are correct but R is not the right explanation of A
2. Both A and R are correct and R is the correct explanation of A
3. A is correct but R is incorrect

4. Both A and R are incorrect



Options :

5362282345. 1
5362282346. 2
5362282347. 3

5362282348. 4

Question Number : 137 Question Id : 536228601 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
A S P RUMUE : TP Bl AU () HR G B a0 (R) Bel T 5

STHEYA (A) : UdtH | yfiel o Hrfiert el & fbardart & dda 9 &l J sfid @
G 81 &, Tl d 8 YORIEd ARG X ¥dd g

TP (R) : 410D IoH & D T UgqST & G AR WE- & 1aid €0 3 Fed T8l 81
gad gl
mmﬁﬁ&ﬂﬁﬁﬁﬁﬁﬁﬁﬂﬁﬂﬁﬁﬂﬁwgﬁ:

Options :

5362282345. 1
5362282346. 2
5362282347.3
5362282348. 4

Question Number : 138 Question Id : 536228602 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Assertion A: Credit flows to agriculture and SME sector have increased in recent years.

Reasoning R: Reserve Bank of India has gradually relaxed various controls in credit
market.

Code:

1. Aand R both are correct and R is the right explanation of A

2. A and R both are correct but R is NOT the right explanation of A
3. A is correct but R is incorrect

4. Both A and R are incorrect

Options :

5362282349. 1

5362282350. 2

5362282351. 3

5362282352. 4

Question Number : 138 Question Id : 536228602 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

id &l &y R U € foFw U sifiidy (4) 8 R gO)1 o (R) § | &YAT &1 afet iR TR
feu 7T fadedl 7 9 Ul TR @I AU

SUHY (A) : BT S & 901 § SN qYT 7Y 3R TEH 39 &1 ¥ g4 a1 0 yare | gf
gl

a® (R) : HRAT Rod s& = #R-9R 01 9oiR | fafva o &f Riia @& ar g
S By & el J Foifed fadei § 9 98 S -

A) HR (R) SHT T8I § 3R (R), () DI Tel IR Bl

A) 3R (R) G U861 & R (R), (A) B Te] oI e &
A) TR R (R) T &

A) R (R) &I TTeid &

1.1
2.
3.
4.(
Options :

5362282349. 1
5362282350. 2
5362282351. 3

5362282352. 4



Question Number : 139 Question Id : 536228603 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Assertion A: TRIMs and TRIPs provisicns facilitates and promotes FDL.
Reason R:  TRIMSs and TRIPs provisions remove restrictions and address capital flow
sensitivities.

Choose the correct response from following:

1. Both A and R are correct and R is the right explanation of A
2. Both A and R are correct and R is NOT the right explanation of A
3. A is correct and R is not correct
4, Both A and R are incorrect
Options :
5362282353. 1
5362282354. 2
5362282355. 3

5362282356. 4

Question Number : 139 Question Id : 536228603 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Hid &l &Y [Gu U 8, o d 9 U offHdeH (4) 8 3R 81 dd (R) 61 YA &l Ufet ok
el f&T U @e BT W o Gel S Gl

SHUHYA (A) : T (TRIMs) IR feWT (TRIPs) Wy Uwal fag =l (Hawr (0w St ofg) & g
&1d § 3R 3U §gmal o |

dd (R) : femg 3R fevg e ufost! @1 gerd & 3R goll HaTe @ Jda-Riadis ol
1Y P B

Juddd BYHl & 3cid | Hgiferd fddedl § ¥ Ugl SR g -

1. (A) AR (R) G T8l & IR (R), (A) B Go! oA 5
2. (A) 3R (R) Il Hel § W (R), (A) BT Fel o1 e & |
3. (A) We1 € g (R) Tl el &

4. (A) T 3R (R) CHI T8 B



Options :

5362282353. 1
5362282354. 2
5362282355. 3
5362282356. 4

Question Number : 140 Question Id : 536228604 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Assertion A: Equilibrium price of a commodity is the price at which the quantity
demanded of the commaodity equals the quantity supplied.
Reason R:  Equilibrium, is the condition, once determined tends to persists in time.

Choose the right options:

=i

. Both A and R are correct and R is the right explanation of A

]

. Both A and R are correct and R is NOT the correct
explanation of A

3. A is correct and R is not correct

4, Both A and R are incorrect

Options :

5362282357. 1
5362282358. 2
5362282359. 3

5362282360. 4

Question Number : 140 Question Id : 536228604 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Hid Gl YA TGUTL B, o U Uo i@y (4) § 3R GER1 T (R) B 1 37 DYl @l UigU
R i fEU U fddel ¥ gt SR & 98- Do :

Y (4) : [l O B TG BIAT 98 BIFd Bldl § 1o DIAd IR 39 ¥ &I JF T3
HPET HTYRd HE & &R 8l 9l ¢

ddh (R) : 9T 98 G Bldl & Ol Ueh ok fRfEd ar fRu oH & o1g 9H ad g & i &
36 @I DI B B

Ui DUl b s & Pt o § 3 o8 S

() 3R (R) THT WET & R (R), (A) BT Wl AT B

(%) R (R) GHI Te1 & g (R), (A) BT T o1 e ¢
(

(

1,
2
3. (A) 1R (R) T T &
4. (A) T8I 8 W (R) T &
Options :
5362282357. 1
5362282358, 2
5362282359, 3

5362282360. 4

Sub-Section Number : 2
Sub-Section Id : 53622823
Question Shuffling Allowed : Yes

Question Id : 536228605 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (141 to 145)

Question Label : Comprehension



A mutual fund is a special type of investment institution which acts as an investment
conduit. It pools the savings of relatively small investors in a well - diversified portfolio of
sound investment. Mutual funds issue securities (known as units) to the investors (known
as unit - holders) in accordance with the quantum of money invested by them. The profit
(or losses) are shared by the investors in proportion to their investments. A mutual fund
is set up in the form of a trust which has (i) a sponsor, (ii) trustee, (i) Asset Management
Company (AMC) and (iv) custodian. The trust is established by the sponsor who is like
promoter of a company. The trustees of the mutual fund hold its property for the benefit
of unit-holders. The trustees are vested with the general power of superintendence and
direction over AMC. They monitor the performance and compliance of the SEBI
regulations by the mutual fund. The AMC manages the funds by making investment in
various types of securities. The Custodian holds the securities of the various schemes of
the mutual fund in its safe custody. As an investment intermediary, mutual funds offer a
variety of services/advantages to the relatively small investors who, on their own, cannot
successfully construct and manage an investment portfolio mainly due to the small size
of their funds, lack of expertize/experience and so on. These inter-alia, include
convenience in terms of lower denomination of investment and liquidity, lower risk
through diversification, export management and reduced transaction cost due to
economies of scale.

Sub questions

Question Number : 141 Question Id : 536228606 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Who among the following monitors the compliance of SEBI regulations by the mutual
tund?

1. Sponsor
2. Trustee

3. AMC

4. Custodian

Options :

5362282361. 1
5362282362. 2
5362282363. 3
5362282364. 4

Question Number : 142 Question Id : 536228607 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The sponsor of a mutual fund is similar to

1. Sole proprietor of a firm

2. Partner of a partnership firm
3. Promoter of a company

4. Director of a company

Options :

5362282365. 1
5362282366. 2
5362282367. 3
5362282368. 4

Question Number : 143 Question Id : 536228608 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AMC manages funds by investing in

1. Stock market securities only
2. Credit instruments only

3. Government bonds only

4. Various types of securities

Options :

5362282369. 1
5362282370. 2
5362282371.3

5362282372. 4

Question Number : 144 Question Id : 536228609 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which among the following is not a part of mutual fund trust?

1. Sponsor

2. Custodian
3. Depository
4, Trustees
Options :
5362282373. 1
5362282374. 2
5362282375. 3

5362282376. 4

Question Number : 145 Question Id : 536228610 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Mutual fund is

1. Investment intermediary
2. Venture capitalist

3. NBFC

4. Non-profit organization
Options :
5362282377. 1
5362282378. 2
5362282379. 3

5362282380. 4

Question Id : 536228605 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (141 to 145)

Question Label : Comprehension



Passage

g3d BS U A=Y YHR @1 (a2 TR & ©fl e 99 A1l & ©0 H 1 &l 81 T8
Tee Faw & fafgy udwifenl 4 steaned Sid Fox®! @ 99d & tehd &l ¢l U8
FaTsl G 4R Bl I FRI HaY Y T ¥ &1 46 & ATUR wiasfaal (G
SIS el ol 8) WK1 Bl & | Ha%! §RT U (421 @ 3uTd 3§ oy 3R g1 91 fesd
S1d 81 Rafd 18 U 2% & &0 o WId fdar o & ford (i) ues Wi, (i) 2%, (i)
T Beehc FAE U (iv) TRE® Bl 81 T B W] e §R1 @1 o1 ¢ o [l
A & JHIE B TXE Bl &1 FESE B8 & oR! IFe 4Ra! & 2 & fe grodt vad
&1 TRl @ 33 W SH&E SR FETH B Wikl & 91y Mg fon S 81 4 "gand
e &R Vel el & e 3R ueH of FIRET #d €1 1! fafie geRr @
yfersyfcrdl § Fa= @b ¢ BT WEE- S g1 HERE AU TRIE ATHRET H ’gare be
&1 At oA @t ufdyfadl & wad g1 Faw mem & ¥ 4, TP be Suadd
Bl Fav®! o [t TR &1 a)/a™ UgH 1 § Sl 3fUH G | 19 ¥ 4§ 30 b3
& Ble IR, RVFA/HIHT 1 B AR 3U UOR &I HidRdl & BRU o
Uil &1 Yheidl Yad A0 3R HetH T8l &R 9obd &1 399 3 aKdl & 91Y-gY
% R Edl & &9 gl [ & gy 4 &1 Sifey, Gy wdiE, T9H @
fErqergdl & HRY %Y TH-cA AT M0 6

Sub questions

Question Number : 141 Question Id : 536228606 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Fafeiad o ¥ o Rdeid e gRI Hal fafgE! surea- ®f TR &l 67

1. UIS®
2. =OTEt

3. uHgl
4. HIYIESH

Options :

5362282361. 1
5362282362. 2
5362282363. 3

5362282364. 4

Question Number : 142 Question Id : 536228607 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

HI3(d g I UIasid M Bl & :

1. B8 & Udhd WH! & 9HH

2. TIeR! BH & HIEGR & 99H
3. HUAT & UHER & GHM

4. HUH & Few® & gaH

Options :

5362282365. 1
5362282366. 2
5362282367. 3

5362282368. 4

Question Number : 143 Question Id : 536228608 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
vuAdl 9 | Faw gr1 Al &1 vey ar g

. had €id Alde ®f dfayfaal o
. ad T foradf o

. had TRl Fisf g

faft yeR &1 ufayfodf §

Ju L P —

Options :

5362282369. 1
5362282370. 2
5362282371. 3

5362282372.4

Question Number : 144 Question Id : 536228609 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

5362282373. 1
5362282374. 2
5362282375. 3

5362282376. 4

Question Number : 145 Question Id : 536228610 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

5362282377. 1
5362282378. 2
5362282379. 3

5362282380. 4

Sub-Section Number : 3
Sub-Section Id : 53622824
Question Shuffling Allowed : Yes

Question Id : 536228611 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (146 to 150)

Question Label : Comprehension



Read the case and answer the mentioned questions

The famous Taj palace hotel and towers became the centre of one of the most deadly
terrorist attacks in the Indian - Sub Continent on 26 Nov. 2018. The employee's
behaviour during the crisis saved the lives of nearly 300 guests. The condition of Taj after
this was so disastrous that it would have been profitable to leave the hotel as it was

rather than recpening it.

However, Taj made remarkable effort of recovering not just to restore its damaged
installations but also to ensure customer satisfaction as well as to uplift the spirit of all
employees and staff.

The employee at Taj is viewed as an asset and is the real profit centre. "The
criterion of the Taj people philosophy displays our commitment to and belief in our
people” says Bernard Martyris, is former senior VP,HR. In it is "Special Thanks and
Recognition System” (STARS) it aims at rewarding employees across all levels. The
employee can earn points on the recommendation of colleagues or guests. Taj People
Philosophy (TPP) covered all the aspects of and employee career planning from his
joining till the death. Taj also implemented the popular performance management
system called Balance Score Card in which employee could reviews his performance and

make improvements.

Sub questions

Question Number : 146 Question Id : 536228612 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Hiring the right people for organization like Taj hotel requires which of the following?

(a) Compete to get best employees

(b) Hire for competancy and inclination
(c) Be the most preferred employer

(d) Choose the most talented

Choose the correct option:

1. (a) and (b)
2. (b) and (c)
3. (a), (b) and (c)
4. (b), (c) and (d)

Options :
5362282381. 1



5362282382. 2
5362282383. 3

5362282384. 4

Question Number : 147 Question Id : 536228613 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Developing the employees to provide service quality does require which of the
following?
a. Training of employees

b. Continuous instruction with employee

c. Sefting standard for employees

d. Recognize and reward the employees across all levels
Choose the correct option:

. {a) and (b)

. {c) and (d)

. Only (a)

. (@), (b). (c) and (d)

B

Options :

5362282385. 1
5362282386. 2
5362282387. 3

5362282388. 4

Question Number : 148 Question Id : 536228614 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Providing neccessary support system for employees require which of the following?
a. Friendly environment

b.  Providing all the equipment and system needed by employees to deliver service
c. Internal controls

d. Service oriented process

Choose the correct option:

1. Only (a)

2. (b) and (c)

3. (a), (b) and (c)

4. (b). (c) and (d)
Options :
5362282389. 1
5362282390. 2
5362282391.3

5362282392. 4

Question Number : 149 Question Id : 536228615 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Retaining the best people by Taj did not include

1. Making them as a part of vision
2. Promoting them out of turn
3. Rewarding the employees
4. Treating employees as customers
Options:
5362282393. 1
5362282394. 2
5362282395. 3

5362282396. 4

Question Number : 150 Question Id : 536228616 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which approach did not help Taj to restore its glory?

1. Collective bargaining

2. Customer retention

3. Treating employee as customer

4. Implementation of performance management system.

Options :

5362282397. 1
5362282398. 2
5362282399. 3
5362282400. 4

Question Id : 536228611 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (146 to 150)

Question Label : Comprehension
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Question Number : 146 Question Id : 536228612 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

5362282381. 1
5362282382. 2
5362282383. 3

5362282384. 4

Question Number : 147 Question Id : 536228613 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :
5362282385. 1
5362282386. 2
5362282387. 3

5362282388. 4

Question Number : 148 Question Id : 536228614 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362282389. 1
5362282390. 2
5362282391. 3
5362282392. 4

Question Number : 149 Question Id : 536228615 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362282393. 1
5362282394. 2
5362282395. 3
5362282396. 4

Question Number : 150 Question Id : 536228616 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

5362282397. 1
5362282398. 2
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5362282400. 4



